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REPRODUCTION

Texual Lesson Part

1. Do you think reproduction occurs only for continuation of life ?

° Watch Video Solution

2. How does an organism grow ? How does repair of worn out parts take

place ? Is there any form of reproduction involved in the process ?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_A0c5HLYG15UY
https://dl.doubtnut.com/l/_ZfoGOlkkdVz1

Improve Your Learning Conceptual Understanding

1. Why do fish and frog produce a huge number of eggs each year ?

° Watch Video Solution

2. Give examples and explain what is meant by external fertilisation.

° Watch Video Solution

3. Write differences between

Grafting -Layering

° Watch Video Solution

4. Explain the process of fertilization in plants.

° Watch Video Solution



https://dl.doubtnut.com/l/_hL7qgLvxaO1y
https://dl.doubtnut.com/l/_6IYiwTYmEH8Z
https://dl.doubtnut.com/l/_WHD0ogfZKKhg
https://dl.doubtnut.com/l/_LxKz2Xo2MkQK

5. Explain the process of fertilization in plants.

o Watch Video Solution

6. Double fertilization is wonderful phenomenon in flowering plants.

Explain double fertilization in flowering plant with the help of a diagram.

° Watch Video Solution

7.Name the mode of asexual reproduction in yeast.

o Watch Video Solution

8. Plants propagate normally through seeds. What are other ways that

plans propagte through ? Give examples.

o Watch Video Solution



https://dl.doubtnut.com/l/_LxKz2Xo2MkQK
https://dl.doubtnut.com/l/_CTDtXYZ2bes8
https://dl.doubtnut.com/l/_9ZvPKc8H5qXX
https://dl.doubtnut.com/l/_c9PTAnsA8KQI
https://dl.doubtnut.com/l/_JI4z1MG23eLE

9. What are the advantages of sexual reproduction over asexual

reproduction?

° Watch Video Solution

10. How are sperms cells adapted for their function?

° Watch Video Solution

11. The menstrual cycle prepares the uterus for a fertilised egg. How long

is an average menstrual cycle from start to finish ?

° Watch Video Solution

12. When the foetus is growing inside the uterus it needs nutrients. What

provides these nutrients ?

° Watch Video Solution



https://dl.doubtnut.com/l/_cQKwIc4QoBxN
https://dl.doubtnut.com/l/_yto2OILZcbvG
https://dl.doubtnut.com/l/_3wsCetOs7H1O
https://dl.doubtnut.com/l/_dkbfNVdCVzV2

13. Which type of substances are absorbed by foetus from the mother ?

o Watch Video Solution

14. What is the job of the amniotic sac ?

o Watch Video Solution

15. What are the advantages of sexual reproduction ?

o Watch Video Solution

16. How does reproduction help in providing stability to population of the

of species ?

o Watch Video Solution



https://dl.doubtnut.com/l/_dkbfNVdCVzV2
https://dl.doubtnut.com/l/_sTEBesr2f5of
https://dl.doubtnut.com/l/_4hsXCDFOKVZv
https://dl.doubtnut.com/l/_zOYHOPm3YNsy
https://dl.doubtnut.com/l/_oSfvuwuPKnFY
https://dl.doubtnut.com/l/_nKmBfEAigExF

17. List the main differences between mitosis and meiosis.

o Watch Video Solution

18. What happens to the wall of the uterus during menstruation ?

o Watch Video Solution

19. What changes occur in the wall of the uterus during menstruation ?

o Watch Video Solution

Improve Your Learning Asking Questions And Making Hypothesis

1. ‘All unicellular organisms undergo only mitotic cell division during

favourable conditions" - Do you support this statement ? Why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_nKmBfEAigExF
https://dl.doubtnut.com/l/_39flUIUsT2G6
https://dl.doubtnut.com/l/_9tjusmteexRY
https://dl.doubtnut.com/l/_zIyvJDjDDrln

2. What would be the consequences if there is no meiosis in organisms

that reproduce sexually?

° Watch Video Solution

3. What happens if meiosis does not take place in reproductive cells?

° Watch Video Solution

Improve Your Learning Experimentation And Field Investigation

1. Vicky's father wants to grow a single plant having two desirable

characters colourful flowers and big fruits. What method will you suggest

him and why?

° Watch Video Solution



https://dl.doubtnut.com/l/_zIyvJDjDDrln
https://dl.doubtnut.com/l/_C9j6Jhy0FbBx
https://dl.doubtnut.com/l/_NEM4c6uBhdAT
https://dl.doubtnut.com/l/_qcktSwPpTOPP

2. What procedure you will follow to observe stages of mitosis in onion

root tip?

° Watch Video Solution

3. Uproot an onion plant and take a thin section of its root tip. Stain it
and observe under microscope. Draw as you see and identify the stages

of the cell division.

° Watch Video Solution

Improve Your Learning Information Skills And Projects

1. Visit a nearby village and collect information how farmers grow

sugarcane, flowering plants like chrysanthemum, prime rose and
vegetables like stem tubers, plump gourd (dondakaya) etc. Make a report

and submit in class.

. l


https://dl.doubtnut.com/l/_Ul61HqLJKBb3
https://dl.doubtnut.com/l/_c4fHADTzEdYz
https://dl.doubtnut.com/l/_u123Ri5E0uvO

| ¥ vvatch video sSolution J

Improve Your Learning Communication Through Drawing Model Making

1. Collect information from school library or using internet what
vegetative methods are followed in your district as well as in your state

to propagate various plants of economic importance.

° Watch Video Solution

2. Make a flow chart to show the cell cycle and explain cell division

describing different stages of mitosis.

° Watch Video Solution

3. Draw neat labelled diagrams of male and female reproductive system of

plant.

° Watch Video Solution



https://dl.doubtnut.com/l/_u123Ri5E0uvO
https://dl.doubtnut.com/l/_W0DX2xXtZZlh
https://dl.doubtnut.com/l/_nPcmCG5Q6iI2
https://dl.doubtnut.com/l/_RD98uvZphjiQ

4. Observe the following part of a flowering plant. Prepare a note.

stigma

ovary
ovule

éametnphytﬁ
cells

embryo sac

Structure of ovitle

° Watch Video Solution

5. Prepare a flow to explain the process of sexual reproduction in plants.

| o A _L vl . o ~_ ..o


https://dl.doubtnut.com/l/_RD98uvZphjiQ
https://dl.doubtnut.com/l/_MWbFxFdLdB0r
https://dl.doubtnut.com/l/_Fds1wUuOx3i0
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6. Draw a neatly labelled diagram to explain plant fertilisation. Write a few

points on pollen grain.

° Watch Video Solution

Improve Your Learning Appreciation And Aesthetic Sense Values

1. How ill you appreciate cell division that help perpetuation of life?

o Watch Video Solution

Improve Your Learning Application To Daily Life Concern To Biodiversity

1. What precautions will you take to away from various sexually

transmitted discases?

o Watch Video Solution



https://dl.doubtnut.com/l/_Fds1wUuOx3i0
https://dl.doubtnut.com/l/_U9x2akBBz6ur
https://dl.doubtnut.com/l/_zdxfKu5ZwgZF
https://dl.doubtnut.com/l/_AbT2FzqqHA2A

2. What precautions will you take to keep from dissases like AIDS and

other sexually transmitted diseases?

o Watch Video Solution

3. Conduct a seminar on child marriages and foeticide.

o Watch Video Solution

Questions Given In The Lesson 1 Mark Questions

1. How do you think bacteria were dividing to form curd?

° Watch Video Solution

2. How do you think this (parthenogenesls) happens?


https://dl.doubtnut.com/l/_AbT2FzqqHA2A
https://dl.doubtnut.com/l/_M6qdGanTC4NX
https://dl.doubtnut.com/l/_d3ySk96jNR1q
https://dl.doubtnut.com/l/_DiHCfvN6rXEb
https://dl.doubtnut.com/l/_Eh2C9bwm1Q6x

° Watch Video Solution

3. Would it involve two parents?

° Watch Video Solution

4. Which type of fission would produce larger colonies in less period of

time . Why?

° Watch Video Solution

5. Which mode of asexual reproduction provides maximum scope of

choice of desirable characters?

° Watch Video Solution

6. What are the characters that would you like to select?



https://dl.doubtnut.com/l/_Eh2C9bwm1Q6x
https://dl.doubtnut.com/l/_el1EnqkWrQUE
https://dl.doubtnut.com/l/_MEWr5w6jMHmr
https://dl.doubtnut.com/l/_aC3r6UmtjH51
https://dl.doubtnut.com/l/_bqUJV7Iza70E

| ° Watch Video Solution

7.What mode of propagation would help you to produce the plants with

desirable characters?

° Watch Video Solution

8. Do you find any similarities between rhizopus and fern spores and

sporangia?

° Watch Video Solution

9. Think why testis are located outside the abdominal cavity?

° Watch Video Solution

10. What function do you think is served by petals and sepals?



https://dl.doubtnut.com/l/_bqUJV7Iza70E
https://dl.doubtnut.com/l/_F7y8WymTOQ4N
https://dl.doubtnut.com/l/_HoAFwYCaLr6c
https://dl.doubtnut.com/l/_tpd3y656EBkv
https://dl.doubtnut.com/l/_4CP39oG8vFgY

I & Watch Video Solution

11. How many nuclei are present in the pollen grain?

° Watch Video Solution

12. Which floral part may be seen in a fruit?

° Watch Video Solution

13. How would it affect the progeny formed by sexual reoroduction ?

° Watch Video Solution

Questions Given In The Lesson 2 Marks Questions


https://dl.doubtnut.com/l/_4CP39oG8vFgY
https://dl.doubtnut.com/l/_tXjv4CM9fGp5
https://dl.doubtnut.com/l/_XXiVnDFGQsCy
https://dl.doubtnut.com/l/_4DgVSzYZoqXp

1. Is regeneration can also be known as a type of fragmentation? Do you

agree ? Why or why not?

° Watch Video Solution

2. In what way is the anomalous behaviour of water advantageous to

aquatic animals ?

° Watch Video Solution

3. Whether they reproduce by budding, fission or fragmentation ?

Organisms formed are the exact copies of their parents. Is it true? Why?

° Watch Video Solution

4. What about mushrooms, how do they grow? Discuss in your class.

° Watch Video Solution



https://dl.doubtnut.com/l/_kruTyz3PQn4K
https://dl.doubtnut.com/l/_YsUlEwPxcSY2
https://dl.doubtnut.com/l/_v8P0LP2KZPeU
https://dl.doubtnut.com/l/_eAGPX13DEAoE

5. How does the male reproductive cells reach the female reproductive

cells in flowers of such plants (pea plants)?

° Watch Video Solution

6. How are cotyledons useful for the plant?

° Watch Video Solution

7.What would happen if the gametes do not have half the choromosome

number as the skin parent?

° Watch Video Solution

8. Why did the government of india fix the marriage age of boys (21 years)

and girls (18 years)?

e l


https://dl.doubtnut.com/l/_eAGPX13DEAoE
https://dl.doubtnut.com/l/_2YxAGCMckOt9
https://dl.doubtnut.com/l/_Tx81Z4ktIE83
https://dl.doubtnut.com/l/_9FZdefWFiFXE
https://dl.doubtnut.com/l/_uOD6OYSyE4zB

| ¥ Vvatch Video Solution |

9. Do you feel that it is a social responsibilities to control birth after

having one or two children?

o Watch Video Solution

10. What do you understand by the 'Healthy Society' ?

o Watch Video Solution

11. Will you encourage child marriage?

o Watch Video Solution

Questions Given In The Lesson 4 Marks Questions



https://dl.doubtnut.com/l/_uOD6OYSyE4zB
https://dl.doubtnut.com/l/_92pMBlvzCSBE
https://dl.doubtnut.com/l/_gZ4NYLejvYIi
https://dl.doubtnut.com/l/_ihF4uqZ5G5z6

1. Draw the diagram of the flower that you collect and parts shown and

write their functions.

° Watch Video Solution

2. Social discrimination against AIDS patient is also a social evil . Can you

support this Why?

° Watch Video Solution

3. Why doctors are prohibited to do sex determination through

ultrasound scanning for pregnant women ?

° Watch Video Solution

Objective Assignment



https://dl.doubtnut.com/l/_U6FmyMpQbuSV
https://dl.doubtnut.com/l/_hMe1mv0Gk5kc
https://dl.doubtnut.com/l/_g8pxvoITYTaT

1. The part of the female reproductive system that produces the eggs.........

A. Ovary

B. Epididymis

C. Cervix

D. Fallopian tube

Answer:

o Watch Video Solution

2. The term that we use to describe a sperm cell fusing with an egg cell.......

A. Fragmentation

B. Fermentation

C. Fertilisation

D. Fusion


https://dl.doubtnut.com/l/_A2oRXCXj6Vqt
https://dl.doubtnut.com/l/_BD57v13rAY4Y

Answer:

° Watch Video Solution

3. Which part of the male reprodutive system produces (human) the

sperm cell?

A. Vas deference

B. Epididymis

C. Seminiferous tubules

D. Scrotum

Answer:

° Watch Video Solution

4. How does the sperm break throughthe egg cell membrance ? Choose

the option you think is right.


https://dl.doubtnut.com/l/_BD57v13rAY4Y
https://dl.doubtnut.com/l/_MDUqC3TyVzhe
https://dl.doubtnut.com/l/_XEFFtGeQ0PRk

A. Tears a hole in the membrane

B. Dissolves the membrane with chemicals

C. Bites through the membrane with teeth

D. Squeezes through gaps in the memberane

Answer:

o Watch Video Solution

5.Why are egg cells large than sperm cells? Choose the option you think

is right.

A. Egg cells have more cells in them

B. Have food store to help growth after fertilisation

C. Have thicker cell membranes

D. Have larger nuclei

Answer:



https://dl.doubtnut.com/l/_XEFFtGeQ0PRk
https://dl.doubtnut.com/l/_lVkDuBNIQSq0

| o Watch Video Solution

6. Which of these things will affect the way a foetus grows? Choose the

option you think is right.

A. Chemicals in cigarette smoke

B. Alcohol

C. Drugs

D. All of the above

Answer:

o Watch Video Solution

7. Which of the following is the correct squence of steps in the human life

cycle? Choose the right option.

A. Babyhood, childhood, adolescence,adulthood


https://dl.doubtnut.com/l/_lVkDuBNIQSq0
https://dl.doubtnut.com/l/_HMHt8eCi3c4H
https://dl.doubtnut.com/l/_rC1saUUb8a5i

B. Childhood, babyhood, adulthood,adolescence

C. Adolescence, babyhood, adulthood,childhood

D. None of above

Answer:

° Watch Video Solution

Creative Questions For New Model Paper 12 Mark Questions

Name the asexual reproduction shown in the above figure.



https://dl.doubtnut.com/l/_rC1saUUb8a5i
https://dl.doubtnut.com/l/_e3P0gLJGW34u

| ' Vvvatcn viaeo o>oiution

Name the asexual reproduction shown in the above picture.

o Watch Video Solution



https://dl.doubtnut.com/l/_e3P0gLJGW34u
https://dl.doubtnut.com/l/_g8htlWDoShM2

3.

Name the mode of reproduction shown in the above figure.

° Watch Video Solution



https://dl.doubtnut.com/l/_3qkxLeb2tdul

4.

Though which process, the above shown seedless fruits formed?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZJhcYJtfv5Fd

|

5.

Name the above method of reproduction.

o Watch Video Solution



https://dl.doubtnut.com/l/_tLYaGINaBWj7

6.
Name the plant shown in the above figure which propagate though

epiphyllous buds.

° Watch Video Solution

7.l

In which plant, you can see the above propagation?

° Watch Video Solution



https://dl.doubtnut.com/l/_AWXuhaOVxFi3
https://dl.doubtnut.com/l/_SikMeAhKnHDV

8.ls.

In which plant, you can observe the above propagation?

o Watch Video Solution

9.ls

Give one example for the above shown propagation .

o Watch Video Solution

10. L+

Name the above artificial vegetative propagation.

o Watch Video Solution

M.l

Identify the above shown artificial vegetative propagation.



https://dl.doubtnut.com/l/_NsmnNxHQJuPR
https://dl.doubtnut.com/l/_wyfcUIGpwG5L
https://dl.doubtnut.com/l/_cWOX0LIkIHJ4
https://dl.doubtnut.com/l/_veRGOKIXphtC

l & Watch Video Solution

12.

Can you identity the above shown artificial vegetative propagation?

o Watch Video Solution

13. 0

Can you identify the above fungus?



https://dl.doubtnut.com/l/_veRGOKIXphtC
https://dl.doubtnut.com/l/_9Casn0IG3srr
https://dl.doubtnut.com/l/_X1zF502qCbd7

| ° Watch Video Solution

14.

Name the labelled part 'x' in the above figure.

o Watch Video Solution

15. Lo

Can you identify the structure shown in the above figure?

o Watch Video Solution



https://dl.doubtnut.com/l/_X1zF502qCbd7
https://dl.doubtnut.com/l/_ICoEJeprhn4F
https://dl.doubtnut.com/l/_BzhsU8R3wSKN
https://dl.doubtnut.com/l/_VKokF3hubSz9

16. .

To which system the above figure is associated with?

° Watch Video Solution

17.l2

Identify the labelled part 'x' in the above figure.

° Watch Video Solution



https://dl.doubtnut.com/l/_VKokF3hubSz9
https://dl.doubtnut.com/l/_sKNI935hARKE

18.

Name tha ahave ctriictiirea chawn in the ahAave ficiirea


https://dl.doubtnut.com/l/_dPClJYEz1xjp
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o Watch Video Solution

%
r

19.

Name the labelled part 'x' in the above figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_dPClJYEz1xjp
https://dl.doubtnut.com/l/_jevaE4IlzeJU

20. s

To which system the above system belongs to ?

o Watch Video Solution

21,0

Name the labelled part 'x' in the above figure.

o Watch Video Solution

22,000

Name the above structure shown.

o Watch Video Solution

23.0s0

Identify 'x' in the above figure.



https://dl.doubtnut.com/l/_QB2Jy6eylqqs
https://dl.doubtnut.com/l/_3WthY82iIUhG
https://dl.doubtnut.com/l/_uirwYKfBi0Bn
https://dl.doubtnut.com/l/_WvzzhgyS5cfn

| & Watch Video Solution

24. 0.

Identify 'x' in the above figure.

o Watch Video Solution

25. s

Name the labelled part 'x' in the above figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_WvzzhgyS5cfn
https://dl.doubtnut.com/l/_5EhwBEYCUm0h
https://dl.doubtnut.com/l/_D77aB8VRkSqt

26.

Name the labelled part 'x' in the above figure.

° Watch Video Solution

27.l+.

Name the labelled 'x' in the above figure.

f


https://dl.doubtnut.com/l/_Iftqz23o6NRQ
https://dl.doubtnut.com/l/_l6nRpf0ZQSPt

_ o Watch Video Solution

28. 10

Name the labelled part 'x' in the above figure.

o Watch Video Solution

Malnutrition
i)
J L ¥
Calorie Protein 9

29 malnutrition malnutrition

o Watch Video Solution

30. |

Name the labelled part 'x' in the above figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_l6nRpf0ZQSPt
https://dl.doubtnut.com/l/_0qEI2jMhdXHK
https://dl.doubtnut.com/l/_Bq7fonSpNan0
https://dl.doubtnut.com/l/_KLlg8woselMN




31

Name tha ahave ctriictiirea chawn in the ahAave ficiirea


https://dl.doubtnut.com/l/_yrRm3KWPfyt0
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° Watch Video Solution

32. |dentify the scientist with the help of the paragraph.
In the year 1879, he examined many kinds of animal and plant cells and

identified mitotic cell division.

° Watch Video Solution

33. Name the scientist with help of the following paragraph.
He hypothesised that in successive cell division the number of

chromosomes always remain constant. He hypothesised meiosis.

° Watch Video Solution

34. Complete the following blanks.
In skin cells ... (1) division takes place, whereas in reproductive cells

........... (2) division takes place.


https://dl.doubtnut.com/l/_yrRm3KWPfyt0
https://dl.doubtnut.com/l/_z2ElAcxUKpsP
https://dl.doubtnut.com/l/_yALccfL3kKNV
https://dl.doubtnut.com/l/_HDE4Q87LwR9i

° Watch Video Solution

35. Complete the blanks.
Union of one male nucleus with the egg cell, forms ... (1) and the

second male nucleus with the fusion nucleus forms ............ (2)

° Watch Video Solution

36. Complete the blanks.
The sperms are produced by ... (1.

The tail of the sperm helps in ... (2).

° Watch Video Solution



https://dl.doubtnut.com/l/_HDE4Q87LwR9i
https://dl.doubtnut.com/l/_b1J8BfmQqPsw
https://dl.doubtnut.com/l/_cK1DYhELSz7p

37. Observe the flow chart and complete the blanks .

Respiration in frogs

1
[ l

Cutaneous Pulmonary

?
respiration respiration

o Watch Video Solution

38. Fill the missing options

Artificial Propagation |

i )

!

Culting Layering Gralting

Ex: Rose, Hibiscus Ex:MNerium  Ex:[7)

o Watch Video Solution



https://dl.doubtnut.com/l/_d2AGdDx9KiTu
https://dl.doubtnut.com/l/_Hk2xplhOnAn5

39. Fill the missing options
mg
src="https://d10Ipgp6xz60nq.cloudfront.net/physics_images/BRS_ QB BIO X _C(

width="80%">

° Watch Video Solution

40. Fill the missing options

Artilicial Propagation |
! ) !

Cutting Layering Gralting

)

Ex: Rose, Hibiscus Ex:MNerlum  Ex:[7]

o Watch Video Solution



https://dl.doubtnut.com/l/_3E727zCkkqng
https://dl.doubtnut.com/l/_tGJTyYSqPV8n

41.Fill the missing options

Artilicial Propagation
) ! !
Layering Gralting

Cutting

Ex: Rose, Hibiscus Ex : Nerlum

Ex: [T

o Watch Video Solution

42.Expand A.LDS.

o Watch Video Solution

43. Expand STD.

° Watch Video Solution



https://dl.doubtnut.com/l/_iqT2E09SFbTq
https://dl.doubtnut.com/l/_qi4qx9dv7Ti0
https://dl.doubtnut.com/l/_0EmyKdB67mm6

44, Expand H.LV.

o Watch Video Solution

45. Expand ASHA.

o Watch Video Solution

46. Expand AR.T.

o Watch Video Solution

47.dentify the mis-matched pair .
(1) Budding - Yeast
(2) Fission - Paramoecium

(3) Fragmentation - Bees

o Watch Video Solution



https://dl.doubtnut.com/l/_00RqMyZtxgfD
https://dl.doubtnut.com/l/_NohWtotVm132
https://dl.doubtnut.com/l/_3pMkdceGYe80
https://dl.doubtnut.com/l/_KSr7kBsFbExx

48. |dentify the mis-matched pairs.
(1) Stolon - Mango
(2) Bulb - Onion

(3) Root- Raddish

° Watch Video Solution

49. Identify the mis- matched pair.
(1) Plumule - Stem
(2) Radicle -Flower

(3) Endosperm - Nutrition

° Watch Video Solution

50. Identify the mismatched pair.

(1) Marriage age for men - 18


https://dl.doubtnut.com/l/_KSr7kBsFbExx
https://dl.doubtnut.com/l/_dogDPuwnYjix
https://dl.doubtnut.com/l/_avgD1ntLGmZl
https://dl.doubtnut.com/l/_Lw69UudjWu8z

(2) Marriage age for women - 21

(3) AIDS- HIV

o Watch Video Solution

51. Fill the missing options

Artilicial Propagation |
! ) !

Cutting Layering Gralting

)

Ex: Rose, Hibiscus Ex:MNerium  Ex:[7]

o Watch Video Solution



https://dl.doubtnut.com/l/_Lw69UudjWu8z
https://dl.doubtnut.com/l/_ili6CVeauuyH

52. Fill the missing options

Artilicial Propagation |
! ) !

Cutting Layering Gralting

Ex: Rose, Hibiscus Ex:MNerlum  Ex:[7]

o Watch Video Solution

53. Observe the following placards. Suggest one occasion, to use them in

your school.

Lo

o View Text Solution

54. Which of the following group does not constitute vegetative

propagation methods?


https://dl.doubtnut.com/l/_SfPt98hrNVOV
https://dl.doubtnut.com/l/_hPKNSw9e7MGG
https://dl.doubtnut.com/l/_sz1brt1WVimk

A. fission,Budding,Fragmentation,Regeneration

B. Stolons, Suckers, Runners,Bulbs,Corns

° Watch Video Solution

55. Which of the following group represent STDs ?
A. Typhoid, Dengue,T.B, Malaria

B. AIDS,Syphilis,Gonorrhoea

° Watch Video Solution

56. Which of the following group represent the parts of female
reproductive system?
A. Seminal vasicles, cowper gland , prostrate gland

B. Fallopian tube, verus, vagina, ovary, funnel

° Watch Video Solution



https://dl.doubtnut.com/l/_sz1brt1WVimk
https://dl.doubtnut.com/l/_oaovAm0HPPlg
https://dl.doubtnut.com/l/_FvMDECpVMeY6

57.1am a surgical birth control method in males. Who am I ?

° Watch Video Solution

58.1 can act as contraceptive and prevent sexual infection. Who am | ?

° Watch Video Solution

59.1 am a surgical birth control method in females. Who am 1?

° Watch Video Solution

60. | am an artificial method of vegetative propagation, through which

the desired characters can be obtained . Who am 1 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_lCscDlGn4hgj
https://dl.doubtnut.com/l/_5ombsZ7AWJOL
https://dl.doubtnut.com/l/_i0sDkWL8WYEF
https://dl.doubtnut.com/l/_uqdATJgqp2qb

61.1 am one type of cell division . | can repair the wounds and help in the

process of growth . Who am | ?

° Watch Video Solution

62. Which of the following group represents make reproductive parts?
A. Anther, Pollen grain, Stamen

B. Ovary, Corolla, Stigma, Ovule, Ovary

° Watch Video Solution

63. | Formed due to the fusion of second male gamete with fusion

nucleus. l am in '3n' condition . Who am 1 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_VwvbIuEcUKUN
https://dl.doubtnut.com/l/_q7J98eeJTpsP
https://dl.doubtnut.com/l/_UP4V0EPKD08F

64.1 am a fungus. | reproduce asexually through by sporulation. | am also

known as bread mould. Who am 1 ?

° Watch Video Solution

65. Read the following lines, find the error and rewrite it.
Majority of flowering plants have an embryosac consisting of eight cells

and nine nuclei.

° Watch Video Solution

66. Read the following lines, find the error and rewrite it.
Pollen grain may have a pollen tube and one nucleus. It germinates only

on the style.

° Watch Video Solution



https://dl.doubtnut.com/l/_O7XjnTUqAWSj
https://dl.doubtnut.com/l/_gacVS0V6y2S6
https://dl.doubtnut.com/l/_21kmHfbKnLL9

67.Read the lines, find the error and rewrite it.
One of the two sperms fuses with the egg to form a zygote. By the time
the egg cell gas been fertilized, the two polar nuclei to form a single endo

sperm nucleus.

° Watch Video Solution

68. Read the following lines, find the error and rewrite it.

Zygote is in '3n’' condition and endosperm nucleus is in '2n' condition.

° Watch Video Solution

69. 1 am a special tissue formed after double fertilization. | store food

materials for the nourishment of the embryo. Who am 1?7

° Watch Video Solution



https://dl.doubtnut.com/l/_kGin92barOgx
https://dl.doubtnut.com/l/_nJkoP3fShfgV
https://dl.doubtnut.com/l/_bOQc8ULhx1Xv

70. We digest and obsorb the endosperm and make the stored food for

the growth of epicotyl and hypocotyl. Can you name us?

o Watch Video Solution

71. Rhizopus: Sporangium, Aspergillus: ?

o Watch Video Solution

72. Mango: Grafting: Nerium:?

o Watch Video Solution

73.Bulb : Onion: Tuber:?

o Watch Video Solution



https://dl.doubtnut.com/l/_3zPJTaVWcYqk
https://dl.doubtnut.com/l/_V943BNTuL06n
https://dl.doubtnut.com/l/_5XrBg95iSRae
https://dl.doubtnut.com/l/_AN5xPY9M9u6L

74. Stolon: Jasmine, Corm:?

o Watch Video Solution

75.Rhizome: Stem, Bryophyllum:?

o Watch Video Solution

76. Planaria: Regeneration, Spirogyra: ?

o Watch Video Solution

77. Amoeba: Binary fission, Yeast: ?

o Watch Video Solution



https://dl.doubtnut.com/l/_6hrAFnH2sAhb
https://dl.doubtnut.com/l/_SmVryKxhNhEo
https://dl.doubtnut.com/l/_bTUXtBqArLX1
https://dl.doubtnut.com/l/_tlt12Uwyvgb0

78.Name the scientist with the help of the following paragraph.
He proposed the cell the theory. He proposed that "Omnis cellula de

cellula."

° Watch Video Solution

79. Name the scientist with help of the paragraph.
He proposed that chromosomes carried a different set heritable

elements.

° Watch Video Solution

80. Expand D.N.A.

° Watch Video Solution

81. Expand R.N.A.

| e |


https://dl.doubtnut.com/l/_Yp99lfoGq6RH
https://dl.doubtnut.com/l/_VD0qfkb60vj7
https://dl.doubtnut.com/l/_27609AxcyLgm
https://dl.doubtnut.com/l/_dc8JdnJZ3O59

I &J Watch Video Solution

82. Name the scientist with the help of this paragraph.
In 1904, he proposed the scheme of mitotic division. It was consider as

the mile stone in the history of cell biology .

° Watch Video Solution

83. Name the scientist , with the help of the following lines.
In 1953, they discovered the structurte of DNA and they declared that it

was double helix. They were honoured with the Nobel prize for their work.

° Watch Video Solution

84. Identify the mis-matched pair.
(1) Would AIDS Day -June, 5
(2) STD-Gonorrhoea

(3) ASHA- HIV patients


https://dl.doubtnut.com/l/_dc8JdnJZ3O59
https://dl.doubtnut.com/l/_OxkYrTyAuRxg
https://dl.doubtnut.com/l/_poSICAOOokNf
https://dl.doubtnut.com/l/_sxKkqStsGV95

o Watch Video Solution

85. Name the scientist with the help of the following lines.
In 1876, he showed that plants when isolated had the greatest tendency
to self-fertilize while when surrounded by variety of the same flowers,

they radify cross fertilize.

o Watch Video Solution

86. | originate from the digestive canal of the embryo. | am a tube like
structure | have very important blood vassels that connect the embryo

with the placenta. Who am I?

o Watch Video Solution

87. Identify the correct sequence.
(A) Prophase — Anaphase — Telophase — Metaphase

(B) Prophase — Metaphase — Anaphase — Telophase


https://dl.doubtnut.com/l/_sxKkqStsGV95
https://dl.doubtnut.com/l/_gzWY0C2ISUDd
https://dl.doubtnut.com/l/_4PWbnwmDgo62
https://dl.doubtnut.com/l/_gOVxldGsyqz3

(C) Metaphase — Telophase — Prophase — Anaphase

(D) Prophase — Anaphase — Metaphase — Telophase

° Watch Video Solution

88.In the diagram, 'X' denotes.....ccccccccecevuce

&2

° Watch Video Solution

List- A List-B

1. Fragmentation —Fungi e .
. Write t -mat .

2. Budding _ Paramoecium rite the mis-matched pairs

3. Binary fission = —Flatworm

o Watch Video Solution



https://dl.doubtnut.com/l/_gOVxldGsyqz3
https://dl.doubtnut.com/l/_HIE9Vhm5asCV
https://dl.doubtnut.com/l/_ugZMrMd0jTeB

90. Arrange the stages of cellll-cycle of mitosis in correct order:
S phase | = |G, phase
1 2

M phase| — (G, phase
-3 4

o Watch Video Solution

91. Arrange the sequence of steps of human life cycle.
1. Adolescence

2. Babyhood

3. Adulthood

4. Childhood

o Watch Video Solution



https://dl.doubtnut.com/l/_Fn9UhTb2db3B
https://dl.doubtnut.com/l/_pIuLNZYIUPcb

92. This symbol denotes.......

o Watch Video Solution



https://dl.doubtnut.com/l/_3LcVtOWPza7q

93. The student observes pollen grains under nicroscope.

It appears as below. 'X' indicates.............

o Watch Video Solution



https://dl.doubtnut.com/l/_JkX2RTjnMYyU



https://dl.doubtnut.com/l/_VaJHnTq8RkWx

95. Name the structures found in a bean seed shown in the figure.

o Watch Video Solution

96. The Pollen grain has 2 Nuclei. Whenever the pollen tube enters the
Embryo soon after the tip of the pollen tube enters the embryo sec, the
end of the tube ruptures and releases the two sperms into the embryo
sac. One of the two sperms fuses with the egg to form X' and another
sperm fuses with polar nuclei and form Y. What are X and Y in the above

para?

o Watch Video Solution



https://dl.doubtnut.com/l/_CklrWDNTnHwa
https://dl.doubtnut.com/l/_QYTBW7ZghmYF
https://dl.doubtnut.com/l/_WwCrRhClTurw

97. Name the part which is asked as a question mark ?

Atk
Sivvmnbary Nugheny
iwrghds

!

o Watch Video Solution

98. Who stated that binary fission of cells was the means of reproduction

of animals cells?

o Watch Video Solution

99. Who hypothesised that individuals of the same species have the same

number of chromosomes ?

[ o |


https://dl.doubtnut.com/l/_WwCrRhClTurw
https://dl.doubtnut.com/l/_AMykAm5Ak54T
https://dl.doubtnut.com/l/_Sak4qt6mJmHO

l & Watch Video Solution

100. Identify the mismatched pair.

(a) Runner — Grass
(b) Tuber — Potato
(¢) Bulb —  Carrot

° Watch Video Solution

101. Surgical method: Tubectomy : : Barrier method.......7............

° Watch Video Solution



https://dl.doubtnut.com/l/_Sak4qt6mJmHO
https://dl.doubtnut.com/l/_ZHHMX30b6C7W
https://dl.doubtnut.com/l/_Y8vbhP7ENd2G

102. Which type of flower is this?

° Watch Video Solution



https://dl.doubtnut.com/l/_O3JtsA0K3eGj

103. This is an example for ...

A. Bisexual flower

B. unisexual flower

C. sterile flower

D. none of these

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_30slVafvH8H9

104. In this diagram, X represents

r-—.-—--‘l

° Watch Video Solution

105. In this diagram, X represents

&2


https://dl.doubtnut.com/l/_30slVafvH8H9
https://dl.doubtnut.com/l/_HHEoxaH3TQPu
https://dl.doubtnut.com/l/_dhxpH88ZoHE0

o Watch Video Solution

106. In this diagram, X denotes

-



https://dl.doubtnut.com/l/_dhxpH88ZoHE0
https://dl.doubtnut.com/l/_3PeOlfe5IWYA

I & Watch Video Solution

107. In this diagram, X represents

o Watch Video Solution



https://dl.doubtnut.com/l/_3PeOlfe5IWYA
https://dl.doubtnut.com/l/_gq3kCTxOD9dr

108. In this diagram X represents

o Watch Video Solution



https://dl.doubtnut.com/l/_T0Kce06MaFjN

o Watch Video Solution



https://dl.doubtnut.com/l/_tlqgcscQHIxQ

110. In the given diagram X represents

o Watch Video Solution

111. Name the structure that denotes 'X' in the given diagram.



https://dl.doubtnut.com/l/_CcrWu2UGkM3E
https://dl.doubtnut.com/l/_CECUgMlRPzqX

l o Watch Video Solution

112. Fill the missing options

Artilicial Propagation |
! ! !

Culting Layering Gralting

)

Ex: Rose, Hibiscus Ex:Nerlum  Ex:[T]

° Watch Video Solution

113. Identify the mismatched pair
(1) Tuber - Potato
(2) Corn - Colocasia

(3) Bulb - Ginger

° Watch Video Solution



https://dl.doubtnut.com/l/_CECUgMlRPzqX
https://dl.doubtnut.com/l/_cWDgbfuZjj7T
https://dl.doubtnut.com/l/_i3l4Ii0H5Juu

114. Can you identify this phase of mitosis?

Lo

° Watch Video Solution

115. Arrange the flow chart in correct order.

Gaseous exchange|  |Gas transport

at lungs level by blood
O 2)
Gaseous

exchange at
tissue level

5)

- — (Breathing

3

Cellular
respiration

Ol

° Watch Video Solution



https://dl.doubtnut.com/l/_ZMR5V078cawA
https://dl.doubtnut.com/l/_GBE5n3CMCMUU

116. Complete this flow chart.

Photosynthesis

L

Light reaction

&

Dark reaction

9

L

ATP, NADPH

Glucose

° Watch Video Solution

117. Complete this table.

1) Pepsin

[ 2) Trypsin

° Watch Video Solution



https://dl.doubtnut.com/l/_RSfOi31bg53a
https://dl.doubtnut.com/l/_cCdtN8GHKldj

Creative Questions For New Model Paper Preparation Questions For The

Examination Purpose

1. What is the mede of asexual reproduction do you find in paramoecium

?

o Watch Video Solution

2. Name the mode of asexual reproduction in yeast.

o Watch Video Solution

3. Where do you observe 'fragmentation' mode of asexual reproduction?

o Watch Video Solution

4. In which process, the female gametes develop into zygote without

fertilization ?


https://dl.doubtnut.com/l/_PQGrFKPe7zsw
https://dl.doubtnut.com/l/_3xQ8r12K9ilc
https://dl.doubtnut.com/l/_FPZ8ujhNtrjR
https://dl.doubtnut.com/l/_It31hmSyd6Wt

° Watch Video Solution

5. Name the process of development of young ones from unfertilized

ovum.

° Watch Video Solution

6. What is the cause for formation of seedless fruits ?

° Watch Video Solution

7.What kind of reproduction do you observe in bees, wasps and ants ?

° Watch Video Solution

8. Where do you observe "regeneration” ?

° Watch Video Solution



https://dl.doubtnut.com/l/_It31hmSyd6Wt
https://dl.doubtnut.com/l/_TwfFZISrb049
https://dl.doubtnut.com/l/_RHA9SjAaPe5j
https://dl.doubtnut.com/l/_3BU63CP4kuQL
https://dl.doubtnut.com/l/_1zMk12ZVj8EV

9. In which plant te vegetative propagation occurs through leaves ?

° Watch Video Solution

10. Give an example for bulbs.

° Watch Video Solution

11. Give an example for tubers.

° Watch Video Solution

12. Give two example for stolon.

° Watch Video Solution



https://dl.doubtnut.com/l/_1zMk12ZVj8EV
https://dl.doubtnut.com/l/_2gbBczUMciGW
https://dl.doubtnut.com/l/_vZVHWWTF7vYl
https://dl.doubtnut.com/l/_Fr1t2h4ZoXNX
https://dl.doubtnut.com/l/_j9FuMbSZ2zEh

13. Give one example for corm.

o Watch Video Solution

14. Give one example for rhizome.

o Watch Video Solution

15. Give examples for storage roots.

o Watch Video Solution

16. Give example for cuttings.

o Watch Video Solution

17.1n which plant we can see 'layering' ?


https://dl.doubtnut.com/l/_lH9qC6gzepSB
https://dl.doubtnut.com/l/_XGZqpGnsVjMu
https://dl.doubtnut.com/l/_bRSXCxGMe0XE
https://dl.doubtnut.com/l/_9ylChsapK4FN
https://dl.doubtnut.com/l/_OOHvmrxiPvuC

° Watch Video Solution

18. What is the best method to obtain desirable characters in a plants ?

° Watch Video Solution

19. What are the traditional methods of artificial propagation ?

° Watch Video Solution

20. Name the process in which thousands of plants can be grown in very

short interval of time.

° Watch Video Solution

21. Suggest the artificial method of propagation best for commercial

propagation of plants.



https://dl.doubtnut.com/l/_OOHvmrxiPvuC
https://dl.doubtnut.com/l/_jeKWtp6KR8XG
https://dl.doubtnut.com/l/_hivzrQJg9LsR
https://dl.doubtnut.com/l/_eFimm0BA8KVk
https://dl.doubtnut.com/l/_VD7KVyWlgL2m

| ° Watch Video Solution

22. What is "bread mould" ?

° Watch Video Solution

23.What is the process of reproduction in Rhizopus ?

° Watch Video Solution

24.What is the reproductive structure of Rhizopus ?

° Watch Video Solution

25.In which plant do you observe "sporophyll" ?

° Watch Video Solution



https://dl.doubtnut.com/l/_VD7KVyWlgL2m
https://dl.doubtnut.com/l/_gtDsrqZcnSAN
https://dl.doubtnut.com/l/_QiFE5NdQClh6
https://dl.doubtnut.com/l/_mGAESYy8fqde
https://dl.doubtnut.com/l/_LMiUsv3W3q0b
https://dl.doubtnut.com/l/_G6thbPRkeZVc

26.0n the lower side of the leaf of Fern, the cluster of dot like structures

are seen. Can you name these structures ?

° Watch Video Solution

27. Name the part that produces the sperm cells or male reproductive

cells in the male reproductive system ?

° Watch Video Solution

28.In plants, the fusion of male gamete with secondary nucleus results is

?

° Watch Video Solution

29. Where can you observe double fertilization and triple fusion ?

° Watch Video Solution



https://dl.doubtnut.com/l/_G6thbPRkeZVc
https://dl.doubtnut.com/l/_5CaQIPN4rgjA
https://dl.doubtnut.com/l/_P5jeYS4MxMSi
https://dl.doubtnut.com/l/_X0lO2WHkObQL

30. Name the body part which has divisonless cells.

° Watch Video Solution

31. What are the hazardous substance that show effection the growth of

foetus ?

° Watch Video Solution

32. What is the gestation period in human beings ?

° Watch Video Solution

33.What are the functions of testes during puberty ?

° Watch Video Solution



https://dl.doubtnut.com/l/_X0lO2WHkObQL
https://dl.doubtnut.com/l/_3QK65b2OeyDf
https://dl.doubtnut.com/l/_B567AdUrIHGE
https://dl.doubtnut.com/l/_93fJ02IPsDWA
https://dl.doubtnut.com/l/_6aeO3XKl3Cww
https://dl.doubtnut.com/l/_UU2VhxtZmXOI

34.The teacher said that egg cells are lager than sperm cells. What is the

reason for this ?

° Watch Video Solution

35. Mother's uterus tissue and chorion tissue of the embryo together

form a structure. What do you name it ?

° Watch Video Solution

36. With what name do you call the embryo after the third month of

pregnancy ?

° Watch Video Solution

37.When do we celebrate 'Would' s AIDS day' ?

° Watch Video Solution



https://dl.doubtnut.com/l/_UU2VhxtZmXOI
https://dl.doubtnut.com/l/_wraFgzbHFtrF
https://dl.doubtnut.com/l/_UPy4DfO2J7pF
https://dl.doubtnut.com/l/_ayaUxNRuY9SH

38. What are the most important floral organs required for sexual

reproduction ?

o Watch Video Solution

39. Where do you observe diploid condition in the embryo sac at the time

of fertilization ?

o Watch Video Solution

40. In which organisms do you observe external fertilization ?

o Watch Video Solution

41. Name the STD which is used by bacteria.

o Watch Video Solution



https://dl.doubtnut.com/l/_9Qt9hFl1MUEZ
https://dl.doubtnut.com/l/_kkDK3zYrqjKY
https://dl.doubtnut.com/l/_QBiau9s5sBPF
https://dl.doubtnut.com/l/_RF7VjP2vok7v
https://dl.doubtnut.com/l/_NTgffjCaPzoF

42.Name the method of contraception protects a person from acquiring

a sexually transmited disease.

o Watch Video Solution

43. Name the surgical birth control method in males.

o Watch Video Solution

44.Name the surgical birth control method in females.

o Watch Video Solution

45. Name the part of the seed which grows and develops into root on

germination.

o Watch Video Solution



https://dl.doubtnut.com/l/_NTgffjCaPzoF
https://dl.doubtnut.com/l/_028s6xsARFcM
https://dl.doubtnut.com/l/_mTpbLy8nftKC
https://dl.doubtnut.com/l/_85g5w3ac7PTU
https://dl.doubtnut.com/l/_0PZSuJZsQQRy

46. If a flower constains both stamen and carpel, then what do we cells

this flower?

o Watch Video Solution

47. "Plants perfect self pllination, when they are isolated ' - Who said

these words ?

o Watch Video Solution

48. Who discovered mitosis ?

o Watch Video Solution

49. Name the phase of mitosis in which chromosomes split together to

form chomatids.

o Watch Video Solution



https://dl.doubtnut.com/l/_0PZSuJZsQQRy
https://dl.doubtnut.com/l/_dC3hokdJ6vzI
https://dl.doubtnut.com/l/_4huN0gHf6Rfr
https://dl.doubtnut.com/l/_s7M5WQZ0XywW

50. What are the programmes implimenting to control AIDS in our state ?

° Watch Video Solution

51. Where do you observe epiphyllous buds?

° Watch Video Solution

52. What is the first cells formed after the union of male gametes will egg

?

° Watch Video Solution

53. Name the watery lymph like fluid that accumulates in the mammary

glands during the last part of pregnancy.

° Watch Video Solution



https://dl.doubtnut.com/l/_meRuxUWsSTJi
https://dl.doubtnut.com/l/_1VoW0rUFHhI1
https://dl.doubtnut.com/l/_Rfc6Uj68OLgj
https://dl.doubtnut.com/l/_T8CkXUEQitbH
https://dl.doubtnut.com/l/_9SWkmOUlVoec

54. Male reproductory system secretes a fluid called semen . What is its

use ?

o Watch Video Solution

55. What type of cell division can we observe in reproductive cells?

o Watch Video Solution

56. Name the perlod of cell cycle during which DNA is aynthesized.

o Watch Video Solution

57. What is Cytokinesis. ?

o Watch Video Solution



https://dl.doubtnut.com/l/_9SWkmOUlVoec
https://dl.doubtnut.com/l/_nZHF8eDZ5jO5
https://dl.doubtnut.com/l/_13huMKilh9wz
https://dl.doubtnut.com/l/_lJRkyyXvka1J

58. What is Karyokinesis ?

o Watch Video Solution

59. Give examples for sexually transmitted diseases (STDs).

o Watch Video Solution

60. Where does fertilization takes place in females ?

o Watch Video Solution

61. Who confirmed scheme of mitotic division in 1904 ?

o Watch Video Solution

62. Give an example for intra uterine device.


https://dl.doubtnut.com/l/_OzvpVww55Y0q
https://dl.doubtnut.com/l/_Vy58jpziMEjC
https://dl.doubtnut.com/l/_AHEmsRriQ135
https://dl.doubtnut.com/l/_ox9jdNn4lUxE
https://dl.doubtnut.com/l/_AI88VMBj0YXL

° Watch Video Solution

63. What is the statutory marriageable age for men and women in India ?

° Watch Video Solution

64. Where is the egg apparatus is placed in the embryo sac ?

° Watch Video Solution

65. What do anthers contain ?

° Watch Video Solution

66. What are responsible- inheritance of characters ?

° Watch Video Solution



https://dl.doubtnut.com/l/_AI88VMBj0YXL
https://dl.doubtnut.com/l/_jhxyro71BTgP
https://dl.doubtnut.com/l/_8EnFyEOUgfhh
https://dl.doubtnut.com/l/_JUpbv532NlcH
https://dl.doubtnut.com/l/_DrAi1Uo8nS4u
https://dl.doubtnut.com/l/_8iabFtSgdMDB

67. Who discovered that chromosomes appear double in nature ?

° Watch Video Solution

68. Who discovered the double helical structure of DNA ?

° Watch Video Solution

69. Give an example for modified underground stem.

° Watch Video Solution

70. How does colostrum helpful for the new born baby ?

° Watch Video Solution

Creative Questions For New Model Paper 1 Mark Questions


https://dl.doubtnut.com/l/_8iabFtSgdMDB
https://dl.doubtnut.com/l/_327toUp3RYoZ
https://dl.doubtnut.com/l/_o3fuWmt7JXXe
https://dl.doubtnut.com/l/_l9yuuCUoHTd1
https://dl.doubtnut.com/l/_HeLLY7D4WxxB

1.In what way does mitotic division help the living organism ?

° Watch Video Solution

2. What questions you ask the doctor, who visited your school on world

AIDS day ?

° Watch Video Solution

3. What is colostrum ?

° Watch Video Solution

4. Give any two suggestions to create awareness to stop female foeticide.

° Watch Video Solution



https://dl.doubtnut.com/l/_HeLLY7D4WxxB
https://dl.doubtnut.com/l/_lE3I0UcCShzI
https://dl.doubtnut.com/l/_TVwAy33V3b4D
https://dl.doubtnut.com/l/_Z37urYHMUOQ0

5. Write two precautions you take , while observing Rhizopus in the

laboratory.

° Watch Video Solution

6. Name the types of asexual reproduction in the following organisms:
(a) Paramoecium

(b) Yeast

° Watch Video Solution

7. Apparao and Ramulamma are a newly married illiterate couple. They
don't want children for few years. Suggest some birth control methods

for them.

° Watch Video Solution



https://dl.doubtnut.com/l/_bciOViNh1neF
https://dl.doubtnut.com/l/_3YgM9Fe9EW1C
https://dl.doubtnut.com/l/_notHBz9fMAks

8. During favourable conditions paramoecium reproduce by ?

o Watch Video Solution

9.1n which organisms fragmentation is a common mode of reproduction

?

o Watch Video Solution

10. What is parthenogenesis ? Give example.

o Watch Video Solution

11. What are the methods of artificial propagation ?

o Watch Video Solution



https://dl.doubtnut.com/l/_XbUNtSEGRDRQ
https://dl.doubtnut.com/l/_8eww4BCUFGuS
https://dl.doubtnut.com/l/_Wsj8W6eYQlb3
https://dl.doubtnut.com/l/_TUTUxEGGJTFm

12. Which method is used to obtain a plant with desirable characters ?

o Watch Video Solution

13. What is tissue chlture ?

o Watch Video Solution

14. What is the name of common bread mould ?

o Watch Video Solution

15. What is fertilisation ?

o Watch Video Solution

16. Give examples and explain what is meant by external fertilisation.


https://dl.doubtnut.com/l/_ymPDxLgqQNSG
https://dl.doubtnut.com/l/_SGcKWHF4yFdY
https://dl.doubtnut.com/l/_oxklH3DmxJGG
https://dl.doubtnut.com/l/_b6Zndyi0sA4j
https://dl.doubtnut.com/l/_zRd6IgkoHvrL

° Watch Video Solution

17. What is internal fertilisation ?

° Watch Video Solution

18. What are the parts that present in male reproductive sysytem of man

?

° Watch Video Solution

19. What are the accessory glands present in male reproductive system?

° Watch Video Solution

20. What is ovulation ? How it occurs ?

° Watch Video Solution



https://dl.doubtnut.com/l/_zRd6IgkoHvrL
https://dl.doubtnut.com/l/_wKjOguM9vYyZ
https://dl.doubtnut.com/l/_KtcYhBQtMG29
https://dl.doubtnut.com/l/_9CzFAYbwX1e7
https://dl.doubtnut.com/l/_7Lz3cEBuq1wE

21. Which one of the following is not the function of placenta ? It

° Watch Video Solution

22.When did the placenta is formed in the period of pregnency ?

° Watch Video Solution

23. What is umblical cord?How does it form?

° Watch Video Solution

24. What is foetus ?

° Watch Video Solution



https://dl.doubtnut.com/l/_7Lz3cEBuq1wE
https://dl.doubtnut.com/l/_3vxp3NTkQtas
https://dl.doubtnut.com/l/_wGSLG4Yqr3CG
https://dl.doubtnut.com/l/_MBH6yFFDJHPW
https://dl.doubtnut.com/l/_ZXIlMsFcTavk

25.What is gestation period ?

o Watch Video Solution

26. What are labour pains ?

o Watch Video Solution

27. What is the need of sexual reproduction ?

o Watch Video Solution

28. What are the different part of a flower ?

o Watch Video Solution

29. What are unisexual flower ?


https://dl.doubtnut.com/l/_NCvlLXHl4R1W
https://dl.doubtnut.com/l/_XadWYqJuNDEL
https://dl.doubtnut.com/l/_r3tt9vByTous
https://dl.doubtnut.com/l/_tAbTds1Ow4em
https://dl.doubtnut.com/l/_VbBZwmVGmOjx

° Watch Video Solution

30. What are the three parts of carpel ?

° Watch Video Solution

31. What is self pollination ?

° Watch Video Solution

32.What is cross pollination ?

° Watch Video Solution

33. What is double fertilisation ?

° Watch Video Solution



https://dl.doubtnut.com/l/_VbBZwmVGmOjx
https://dl.doubtnut.com/l/_Dyjbd0F0fWPD
https://dl.doubtnut.com/l/_8pQbJuPXhyUV
https://dl.doubtnut.com/l/_nGURZtZ928oV
https://dl.doubtnut.com/l/_OwgqFM0ATEeI
https://dl.doubtnut.com/l/_dNSkYiGKbrRP

34. Who discovered mitosis ?

° Watch Video Solution

35.What is the meaning of the phase "Omnis cellula de cellula" ?

° Watch Video Solution

36. What is interphase ?

° Watch Video Solution

37.What is G phase of the interphase?

° Watch Video Solution

38.What is 'S' phase of the interphase ?


https://dl.doubtnut.com/l/_dNSkYiGKbrRP
https://dl.doubtnut.com/l/_aHpL1aVNk70I
https://dl.doubtnut.com/l/_QE5nl0X3Yey1
https://dl.doubtnut.com/l/_NIOD0saQXHpB
https://dl.doubtnut.com/l/_ZhLbGXeQGCuB

° Watch Video Solution

39. What is G5 phase of the interphase ?

° Watch Video Solution

40. What are the different stages present in mitosis ?

° Watch Video Solution

41. When does meiosis occur ?

° Watch Video Solution

42.What is the virus that causes AIDS ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZhLbGXeQGCuB
https://dl.doubtnut.com/l/_F8DSR6zqAEul
https://dl.doubtnut.com/l/_ImRTtlKNPm43
https://dl.doubtnut.com/l/_KUVhK6L5HVEq
https://dl.doubtnut.com/l/_EO10FtCgenMw
https://dl.doubtnut.com/l/_g54V6ZdcrlRl

43. How does AIDS spread from one person to another ?

° Watch Video Solution

44. What are the factors that contribute to the spread of HIV in the

state?

° Watch Video Solution

45. What is contraception ?

° Watch Video Solution

46. What are the surgical methods to prevent fertilisation ?

° Watch Video Solution



https://dl.doubtnut.com/l/_g54V6ZdcrlRl
https://dl.doubtnut.com/l/_CD56uZZqeWYM
https://dl.doubtnut.com/l/_UmT99qBsjnRo
https://dl.doubtnut.com/l/_CGFzSzOBmv7R

47. What is foeticide ?

° Watch Video Solution

48. Who used cells fusion technique to understand the functional

relationship between different phases of interphase ?

° Watch Video Solution

49. What is the advantage of reproduction through spores in the case of

rhizopus ?

° Watch Video Solution

50. Which process taking place in the nucleus of a cell leads to variation

in the offspring during reproduction ?

° Watch Video Solution



https://dl.doubtnut.com/l/_oABL0YE6EUvI
https://dl.doubtnut.com/l/_MTkXqQ8Y8orZ
https://dl.doubtnut.com/l/_aw6VJIFdVvbR
https://dl.doubtnut.com/l/_4GuLU8q1SQQf

51. Why it is said that sexual reproduction promotes diversity of

characters in the offspring ?

° Watch Video Solution

52. Name the causative organism of syphilis and gonorrhoea .

° Watch Video Solution

53. Why are variation possible in progeny of sexually reproductive

individuals ?

° Watch Video Solution

54. The simple animals such as planarism can be cut number of pieces

and each piece grows into a complex organism. What is this process


https://dl.doubtnut.com/l/_4GuLU8q1SQQf
https://dl.doubtnut.com/l/_duliEel7RUuF
https://dl.doubtnut.com/l/_NNxFTe8RhTsM
https://dl.doubtnut.com/l/_IbZtX3m8Xzl5
https://dl.doubtnut.com/l/_YIsOSkhH25GO

known as ?

° Watch Video Solution

55. A student kept leaves of Bryophyllum in the soil. After few days new

plants were grown from them. Why ?

° Watch Video Solution

56. Name the three plants which are now grown using plant tissue

culture method.

° Watch Video Solution

57. What does the mother's blood take away from the baby and into the

placenta ?

° Watch Video Solution



https://dl.doubtnut.com/l/_YIsOSkhH25GO
https://dl.doubtnut.com/l/_m7fK2stGypF5
https://dl.doubtnut.com/l/_Js1HzluKABcb
https://dl.doubtnut.com/l/_ZRvxptGXG0r9
https://dl.doubtnut.com/l/_VEsqLEqvzkz4

58. What happens if the fallopian tubes are partially blocked and the

ovulated eggs are prevented from reaching the uterus ?

° Watch Video Solution

59. What will happen if there is no mitosis at all in living organisms ?

° Watch Video Solution

60. How will you stain a microscopic slide showing mitosis in onion roots

?

° Watch Video Solution

61. What happens if the fallopian tubes are partially blocked and the

ovulated eggs are prevented from reaching the uterus ?

° Watch Video Solution



https://dl.doubtnut.com/l/_VEsqLEqvzkz4
https://dl.doubtnut.com/l/_bYV9mfYb3T0A
https://dl.doubtnut.com/l/_MOn7OYl3pIWz
https://dl.doubtnut.com/l/_fBjiigHTgxZe

62. What will happen if there is no mitosis at all in living organisms ?

o Watch Video Solution

63. Identify the given picture. What is the message given by it?

o Watch Video Solution



https://dl.doubtnut.com/l/_fBjiigHTgxZe
https://dl.doubtnut.com/l/_wAxwcvDmiPrM
https://dl.doubtnut.com/l/_A9UMucpAddyR

64. How will you stain a microscopic slide showing mitosis in onion roots

?

° Watch Video Solution

Creative Questions For New Model Paper 2 Mark Questions

1. Accourding to weismann prediction , every organism undergoes two

kinds of cell divisions. In mitosis, there is no change in chromosomal
number (2n) and in Meiosis, chromosomal number is reduced to half (n).

(ii) In which cells, Meiosis takes place ?

° Watch Video Solution

2.In Meiosis , the chromosome number in the daughter cells are reduced
to half that of their parent cells . Guess, what would happen , if the

reduction of chromosome number is not done.

. l


https://dl.doubtnut.com/l/_Nwipwo0iKxy5
https://dl.doubtnut.com/l/_kC0PZVJ6I3Hr
https://dl.doubtnut.com/l/_DwQVQGG2e3dE

| ¥ Vvvatch video sSolution J

3. What are the questions you asked the doctor who visited your school

to know "the ways of transmission of HIV" ?

° Watch Video Solution

4.|dentify the flower parts a,b,c,d and write their main function.

° Watch Video Solution

5.Draw a labelled diagram of sperm.

° Watch Video Solution

6. How we will get the desired useful triats with the help of two selected

triats by using grafting method ?

| ° Wiak~h \NtdAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_DwQVQGG2e3dE
https://dl.doubtnut.com/l/_cTk3U9Ejc7YP
https://dl.doubtnut.com/l/_0F8xBgefc7os
https://dl.doubtnut.com/l/_0CNZsMJ3nTHd
https://dl.doubtnut.com/l/_tOUQ6uRsrgpY

| ¢ YVULLIL VIMLGUY JUVIUVGIVEE )

7.Draw the labelled diagram of Embryo-sac.

° Watch Video Solution

8. What questions do you ask a doctor to know about different birth

control methods ?

° Watch Video Solution

9.
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15(VA)  |3efaS Sivono

16 (VIA) |e8s8 Siwono S

. &S SHeoono
17 (VI1A) [F6%aS SHenomo
18 (VIIIA) | a8y srasniden



https://dl.doubtnut.com/l/_tOUQ6uRsrgpY
https://dl.doubtnut.com/l/_9cIwijftEAP0
https://dl.doubtnut.com/l/_iSmDITfQLSYn
https://dl.doubtnut.com/l/_sRjxMpEstXzy

_ o Watch Video Solution

10.
Sowg | & [ oA &6 | swye | S| defy
1(A)  [g8 esfen _ Li | Fr ns' | 1 Tl

2(11A) |6 3pas Fsen
13 (IIIA) (&foeS Sewomo

14 (IVA) [>5)S “evomo

15 (VA) |38 Henomo

16 (VIA) |85 Henomo S
; &hmS SHioono
17 (VI1A) 6t Etmomo

18 (VIIIA) (688 srcsohen

o Watch Video Solution

11. Write the process involved in seedless fruit development with two

suitable examples .

o Watch Video Solution



https://dl.doubtnut.com/l/_sRjxMpEstXzy
https://dl.doubtnut.com/l/_PMPnX2lMYp7S
https://dl.doubtnut.com/l/_VY4tBPX2QG25

12. What precautions will you take to keep away from diseases like AIDS

and othersexually transmitted diseases ?

° Watch Video Solution

13. Observe the diagram and answer the following questions.

(I) Name male and female reproductive parts of the above figure.

&2

° Watch Video Solution

14. Observe the diagram and answer the following questions.
(INWrite the names of (1) and (2) in the diagram.

&2

° View Text Solution



https://dl.doubtnut.com/l/_Dvp2k4Q3zb70
https://dl.doubtnut.com/l/_0GZCw59RPta9
https://dl.doubtnut.com/l/_4ImYJIdQOnG6

15. Write slogans on 'child marriages - a social evil'.

° Watch Video Solution

16. Write 5 slogans on the prevention of HIV/ AIDS .

° Watch Video Solution

17. What is the prevent scenario of HIV infection in Andhra Pradesh and
Telangana ?

What are the causes for HIV infection ?

° Watch Video Solution

18. Why do more complex orgaisms not give rise to new individual

through regeneration ?

° Watch Video Solution



https://dl.doubtnut.com/l/_U4TArsUPoDw7
https://dl.doubtnut.com/l/_6UfZpQYBfF6Q
https://dl.doubtnut.com/l/_bLEHVtqfUpC3
https://dl.doubtnut.com/l/_mSJuis6so9v8

19. What are the advantages of vegetative propagation ?

° Watch Video Solution

20. How will an organism be benefited if it reproduces through spores ?

° Watch Video Solution

21. Write the information you got from your teacher about role of
different parts in development of embryo.
Chorion,placenta,amnion,alantois are the embryonic membranes.Write

their functions in a tabular form.

° Watch Video Solution



https://dl.doubtnut.com/l/_mSJuis6so9v8
https://dl.doubtnut.com/l/_1pL6es5hszc3
https://dl.doubtnut.com/l/_gW2XbpqDI8ix
https://dl.doubtnut.com/l/_Ly3d9tvWMNmc

22. What causes joining up of stock and scion grafting technique of

vegetative propagation in plants ?

° Watch Video Solution

23. How does binary fission differ from multiple fission ?

° Watch Video Solution

24. Why the DNA is copying an essential part of the process of

reproduction ?

° Watch Video Solution

25. Differentiate between asexual reproduction and sexual reproduction .

° Watch Video Solution



https://dl.doubtnut.com/l/_pX3lAUUoXEql
https://dl.doubtnut.com/l/_KSp7clPKbWCE
https://dl.doubtnut.com/l/_ppB8YGrC5Y3P
https://dl.doubtnut.com/l/_j6aArjeqMdET
https://dl.doubtnut.com/l/_CmNHp1FDkFI7

26. Differentiate between unisexual and bisexual flower. Give two

examples of each .

° Watch Video Solution

27.How is the process of pollination different from fertilisation?

° Watch Video Solution

28. If a woman is using a copper-T, will it help in protecting her from

Sexuallu transmitted diseases?

° Watch Video Solution

29. Arjun Tendulkar injured his knees while fielding at ground. The injury
was headed after some days . Arjun was eager to know the process

behind it . Describe the process involved in wound healing.

e l


https://dl.doubtnut.com/l/_CmNHp1FDkFI7
https://dl.doubtnut.com/l/_XfK9WWF9i5OI
https://dl.doubtnut.com/l/_B9iJia92OMA2
https://dl.doubtnut.com/l/_mjbhf0wwnG79

| ¥ Watch Video Solution

30. Write some slogans against female foeticide.

o Watch Video Solution

31. What is fission ? Give examples.

o Watch Video Solution

32. Write a short notes on fragmentation.

o Watch Video Solution

33.What is parthenogenesis ? Give example.

o Watch Video Solution



https://dl.doubtnut.com/l/_mjbhf0wwnG79
https://dl.doubtnut.com/l/_DVes5cqEQTgN
https://dl.doubtnut.com/l/_BchwIyPpevvT
https://dl.doubtnut.com/l/_u2VQhH2gHIL0
https://dl.doubtnut.com/l/_ul6cEKNMcDAH
https://dl.doubtnut.com/l/_lgrz5zX6A7I0

34. Write short note on artifical propagation method cutting.

o Watch Video Solution

35. Write about layering. Give example.

o Watch Video Solution

36. What are the advantages of grafting?

o Watch Video Solution

37.How is tissue culture more beneficial than other traditional methords

for artificial propagation of plants ?

o Watch Video Solution



https://dl.doubtnut.com/l/_lgrz5zX6A7I0
https://dl.doubtnut.com/l/_vOfSgEGaufrz
https://dl.doubtnut.com/l/_fvXaomzzFb7Y
https://dl.doubtnut.com/l/_wctjEoIDOaYf

38. What is tissue chlture ?

o Watch Video Solution

39. How does the Rhizopus propagate ?

o Watch Video Solution

40. Write a short note on spore formation.

o Watch Video Solution

41. How spores are produced in sporangia of fungi ?

o Watch Video Solution

42, Write a short note on ovulation.


https://dl.doubtnut.com/l/_7ACK7zSZGpCB
https://dl.doubtnut.com/l/_imnEhIGAGFqL
https://dl.doubtnut.com/l/_8JRN4rVRzDye
https://dl.doubtnut.com/l/_MzkxXXKZKavk
https://dl.doubtnut.com/l/_Mscqd3hW4w8P

° Watch Video Solution

43. What is ovulation ? How it occurs ?

° Watch Video Solution

44, What is colostrum ? What is its importance ?

° Watch Video Solution

45.Ramu said that it is very essential to create more awareness in Andhra
Pradesh and Telangana on the risk of HIV infection and AIDS . Do you

belleve support him ? If so, How can you support his statement ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Mscqd3hW4w8P
https://dl.doubtnut.com/l/_kJDRpIjPY8MF
https://dl.doubtnut.com/l/_e7NQkuXtnu16
https://dl.doubtnut.com/l/_EtCIxHS0qJxG

46. What happens is flowering plant if single fertilization only takes place

?

o Watch Video Solution

Creative Questions For New Model Paper 4 Mark Questions

1. Observe the given diagram and answer the following questions .

What are the four main parts of a flower ?

&2

° Watch Video Solution

2. Observe the given diagram and answer the following questions .

(ii)Which parts of the flower produces gametes ?

&2

° Watch Video Solution



https://dl.doubtnut.com/l/_axb8ySArQbzl
https://dl.doubtnut.com/l/_oqHjPJhgPGla
https://dl.doubtnut.com/l/_AKKfDcMlCc9d

3. Observe the given diagram and answer the following questions .

(iii) Which parts of the flower help in pollination ?

L

L

° Watch Video Solution

4. Observe the given diagram and answer the following questions .

(iv) Which part protect the flower during its bud stage ?


https://dl.doubtnut.com/l/_AKKfDcMlCc9d
https://dl.doubtnut.com/l/_xywFR9sdwNka
https://dl.doubtnut.com/l/_GEqmqTi9z6Ee

° Watch Video Solution

5. Observe the given diagram and answer the following questions .

(v) Which part of the flower with turn into a fruit in the future ?

&2

| oo


https://dl.doubtnut.com/l/_GEqmqTi9z6Ee
https://dl.doubtnut.com/l/_8Ysd34cjfED6

I & Watch Video Solution ]

6. Describe the life cycle of a flowering plant with a help of labelled

diagrams.

° Watch Video Solution

7. Draw the life history of flowering plant in the form of block diagram.

° Watch Video Solution

8. Analyze the following information and answer the following questions .
&=

(i) What do you call the give reproduction methods ?

° View Text Solution



https://dl.doubtnut.com/l/_8Ysd34cjfED6
https://dl.doubtnut.com/l/_BT8qYMpJrx32
https://dl.doubtnut.com/l/_PMfbAwtZsUfJ
https://dl.doubtnut.com/l/_28hGMQvqAPjl

9. What is the major difference between sexual reproduction and

vegetative reproduction in plants ?

° Watch Video Solution

10. Potato plants do not produce seeds. How can you propagation this

plant ?

° Watch Video Solution

1. What are the advantages of propagating plants with the above

methods ?

° Watch Video Solution

12. Explain the formation of fruits and seeds in plants.

° Watch Video Solution



https://dl.doubtnut.com/l/_XaFCCbbl03tj
https://dl.doubtnut.com/l/_3WolO7C19qAM
https://dl.doubtnut.com/l/_a4lFU5pXmwfc
https://dl.doubtnut.com/l/_KoAuZr3hYkt1

13. What are the methods of artificial propagation ?

° Watch Video Solution

14. Observe the following figures and find the stages of cell division and

explain.

&2

° View Text Solution

15. Mention the stages of mitosis with the help of diagrams . Explain the

changes that takes place in Prophase.

° Watch Video Solution



https://dl.doubtnut.com/l/_KoAuZr3hYkt1
https://dl.doubtnut.com/l/_h6uougTcfxj4
https://dl.doubtnut.com/l/_xyunujbuLnOv
https://dl.doubtnut.com/l/_sNXnouS6nRYd

16. Organisms reproduce asexually in many ways. Some of the organisms
are given below. Fill the below table based on the collected information
about the organism and mode of asexual reproduction in it .

(a) Onion (b) Spirogyra (c) Strawberry (d) Ginger (e) Honey-bee (f)

Paramoecium (g) Planaria (h) Yeast

&2

° View Text Solution

17. Draw a near labelled diagram of L.S. of flower .

° Watch Video Solution

18. What are the sexual parts in the flower ?

° Watch Video Solution



https://dl.doubtnut.com/l/_8fqWvBai5WWS
https://dl.doubtnut.com/l/_wLOimaVwxUz4
https://dl.doubtnut.com/l/_s311H9wEuwi1

19. What procedure do you follow to understand the effect of plant
growth hormones (in agar medium) in the terminal portion of the tip of

stem (coleoptile) ?

° Watch Video Solution

20. What are the materials required to prepare and test the hydrogen gas
in the lab by using acid and metal ? Where do you observe the evolved

hydrogen gas ?

° Watch Video Solution

21. The role of double fertilization in angiosperms is to produce

° Watch Video Solution



https://dl.doubtnut.com/l/_ayhSDyawP9v4
https://dl.doubtnut.com/l/_Wa0NbhYFNmYa
https://dl.doubtnut.com/l/_HlIllNFKy2mC

22. Observe the diagram and answer the following .

(1) which part produce the female gamets

° Watch Video Solution

23. Observe the diagram and answer the following .

(2) where does the fertilizatoin takes place in femal


https://dl.doubtnut.com/l/_OVDF96fRlNH1
https://dl.doubtnut.com/l/_5jYVzhRK201j

o Watch Video Solution

24. Observe the diagram and answer the following .

(3) Where does the embryo develops until is the ready to born ?

| o Watch Video Solution


https://dl.doubtnut.com/l/_5jYVzhRK201j
https://dl.doubtnut.com/l/_5cRJCwxZs4z8

25. Observe the diagram and answer the following .

(4) in some case doctors' cut and tie the cut ends of the follopians tubes.

What is the name of surgery ?

° Watch Video Solution

26. Read the following table and answer the following questions.

Sk No. |. Structure Location

No.

1. Tricuspld valve | Right auriculo-ventricular aperture
2. Guard cells Epldermis of leaves

3 Glomerulus Nephron

4. Alveoll Lungs

5. Acrosome Above the head of a sperm.

(i) Name the structure concerned to the heart.

° Watch Video Solution



https://dl.doubtnut.com/l/_5cRJCwxZs4z8
https://dl.doubtnut.com/l/_o0KUAWRZaYW1
https://dl.doubtnut.com/l/_Qy9gGLL1eTTU
https://dl.doubtnut.com/l/_ghiMJtk3EWRD

27.Read the fllowing table and answer the fllowing questions.

8L No. [, ‘Structure "Lacatlon

1. Tricuspid valve | Right auriculo-ventricular aperture
7. Guard cells Epldermis of leaves

3 Glomerulus Nephron

4, Alveoll Lungs

5. Acrosome Above the head of a sperm,

(ii) What is the function of acrosome.

o Watch Video Solution

28.Read the fllowing table and answer the fllowing questions.

S]. No. | Structure Locatlon
‘No.
1. Tricuspid valve | Right auriculo-ventricular aperture
2. Guard cells Epidermis of leaves
3 Clomerulus Nephron
4, Alveoli Lungs
5. Acrosome Above the head of a sperm.

(iii) Name the structures which are helpful for gaseous exchange.

o View Text Solution



https://dl.doubtnut.com/l/_ghiMJtk3EWRD
https://dl.doubtnut.com/l/_vGv97p6P2i1L

29. Accourding to weismann prediction , every organism undergoes two
kinds of cell divisions. In mitosis, there is no change in chromosomal
number (2n) and in Meiosis, chromosomal number is reduced to half (n).

(i) What does 'n' and '2n' indicate ?

o Watch Video Solution

30. Accourding to weismann prediction , every organism undergoes two
kinds of cell divisions. In mitosis, there is no change in chromosomal
number (2n) and in Meiosis, chromosomal number is reduced to half (n).

(i) In which cells, Meiosis takes place ?

o Watch Video Solution

31. Accourding to weismann prediction , every organism undergoes two
kinds of cell divisions. In mitosis, there is no change in chromosomal
number (2n) and in Meiosis, chromosomal number is reduced to half (n).

(iii) What happens , if chromosomal number is not reduced in meiosis ?


https://dl.doubtnut.com/l/_nWZNXvqrzVy9
https://dl.doubtnut.com/l/_9Krpjyo1HmlF
https://dl.doubtnut.com/l/_GEJRQFDBEfyl

° Watch Video Solution

32. Accourding to weismann prediction , every organism undergoes two
kinds of cell divisions. In mitosis, there is no change in chromosomal
number (2n) and in Meiosis, chromosomal number is reduced to half (n).

(iv) Which type of cell division occurs in the skin cells ?

° Watch Video Solution

33. Describe different artificial vegetative methods to produce large scale

production plants.

° Watch Video Solution

34.Draw a labelled diagram of female reproductive system.

° Watch Video Solution



https://dl.doubtnut.com/l/_GEJRQFDBEfyl
https://dl.doubtnut.com/l/_aBg9wPTrWssQ
https://dl.doubtnut.com/l/_BEHWgkidrTut
https://dl.doubtnut.com/l/_sfGiRgM2OPvK
https://dl.doubtnut.com/l/_IcsOtIw5skDl

35.Draw a labelled diagram of female reproductive system.

o Watch Video Solution

36. Among the following organisms can we see asexual reproduction .
Write about the method of asexual reproduction in any of the two
organisms.

(a) Paramoecium (b) Yeast (c) Spirogyra (d) Amoeba (e) Planaria

o Watch Video Solution

37. See the adjacent picture.Which type of pollination will occur in this?

Why do you think so?


https://dl.doubtnut.com/l/_IcsOtIw5skDl
https://dl.doubtnut.com/l/_IngIgbPuxzcK
https://dl.doubtnut.com/l/_ul6hIDAqAtew

° Watch Video Solution

38. Write slogans on 'child marriages - a social evil'.

° Watch Video Solution



https://dl.doubtnut.com/l/_ul6hIDAqAtew
https://dl.doubtnut.com/l/_jl4WHEU02NHX

39. Describe the structure of male reproductive system in human beings.

° Watch Video Solution

40. Describe the structure of male reproductive system in human beings.

° Watch Video Solution

41. Describe briefly about the female reproductive system in human

beings.

° Watch Video Solution

42.Describe the structure of flower with a neatly labelled diagram.

° Watch Video Solution



https://dl.doubtnut.com/l/_WEhovLOIn43S
https://dl.doubtnut.com/l/_y79E6fYniXcF
https://dl.doubtnut.com/l/_o2xEG4hKvnaH
https://dl.doubtnut.com/l/_VMsDhrbxtPIb

43. Why meiosis is called reduction division?

o Watch Video Solution

44.What is contraception ?

o Watch Video Solution

45. Describe the developmental stages of human embryo after

fertilization with the help of neatly labelled diagrams.

o Watch Video Solution

46. What is the significance of meiosis?

o Watch Video Solution



https://dl.doubtnut.com/l/_0Jz5d9KIuaAS
https://dl.doubtnut.com/l/_DCznIqugjccN
https://dl.doubtnut.com/l/_PbvuLHzQUENX
https://dl.doubtnut.com/l/_thVIzEenmf9L

47. lllustrate the process of regeneration in planaria with the help of

suitable diagram.

° Watch Video Solution

48. What are the consequences if meiosis not happen in the body cells of

the organism. ?

° Watch Video Solution

49. Ravi's father wants to cultivate potato in his field . He wants to clarify
some doubts with the agriculturals officer. Prepare a list of doubts in

form of questions for him .

° Watch Video Solution

50. What procedure do you adopt to see pollen grain with tube ?

| e |


https://dl.doubtnut.com/l/_DLrdn83vZdoy
https://dl.doubtnut.com/l/_jgsm3ho7erSd
https://dl.doubtnut.com/l/_aEQ1hfdfdAfx
https://dl.doubtnut.com/l/_wvhDmyuLtLjT

I & Watch Video Solution

51. Observe the following mitotic cell division diagram and answer the
questions given below.

&2

(i) How much time required for G; phase ?

° View Text Solution

52. Observe the following mitotic cell division diagram and answer the
questions given below.
&=

(ii) What is 'S' phase ?

° View Text Solution

53. Observe the following mitotic cell division diagram and answer the

questions given below.


https://dl.doubtnut.com/l/_wvhDmyuLtLjT
https://dl.doubtnut.com/l/_XOKQ1kojphrN
https://dl.doubtnut.com/l/_GzziuKFmhZiN
https://dl.doubtnut.com/l/_657dMvjkG2oz

&2

(iii) What is G5 phase ? What change occur during this phase ?

° View Text Solution

54. Observe the following mitotic cell division diagram and answer the
questions given below.

&2

(iv) What is 'M' phase ? How much time it required ?

° View Text Solution

55. Observe the following mitotic cell division diagram and answer the
questions given below.

&2

(v) How much time required to complete mitotic cell cycles ?

° View Text Solution



https://dl.doubtnut.com/l/_657dMvjkG2oz
https://dl.doubtnut.com/l/_1d5TXKk0fOME
https://dl.doubtnut.com/l/_ocK2MnCdymkn
https://dl.doubtnut.com/l/_tnBH3MeAHayz

56. Draw a labelled diagram of male reproductive system.

° Watch Video Solution

57.Draw the life history of flowering plant in the form of block diagram.

° Watch Video Solution

58. Label the parts for given diagram and write functions of labelled parts

1,2,6 and 7.


https://dl.doubtnut.com/l/_tnBH3MeAHayz
https://dl.doubtnut.com/l/_BXxhzgRq3awz
https://dl.doubtnut.com/l/_HhEqFTTllhlO

o Watch Video Solution

59. A person injured, after several days his wound completely healed.

What type of process took place at the injured part ? Represent these


https://dl.doubtnut.com/l/_HhEqFTTllhlO
https://dl.doubtnut.com/l/_IystCW6TSDkZ

atages with diagram.

° Watch Video Solution

60. Write two activities which you are performing to save the electricity.

° Watch Video Solution

61. Describe what life skills one should develop in Adolescent stage.

° Watch Video Solution

62. Government made an act on determining sex through ultrasound

scanning and telling it as crime . What do you do to tell this others ?

° Watch Video Solution

63. Write briefly about natural vegetative propagation.


https://dl.doubtnut.com/l/_IystCW6TSDkZ
https://dl.doubtnut.com/l/_Bf5NAkZ8YGwn
https://dl.doubtnut.com/l/_6YSFsJ1HpjMA
https://dl.doubtnut.com/l/_tNqyxJX96lBC
https://dl.doubtnut.com/l/_uyUPJ4sk5fet

° Watch Video Solution

64. All sexually transmitted diseases are completely curable.

° Watch Video Solution

65. Write a short note on Grafting.

° Watch Video Solution

1. Do you think reproduction occurs only for continuation of life ?

° Watch Video Solution



https://dl.doubtnut.com/l/_uyUPJ4sk5fet
https://dl.doubtnut.com/l/_Dgo2Xht4AZHd
https://dl.doubtnut.com/l/_ckT3bhdFbhNN
https://dl.doubtnut.com/l/_S8ape0Yu3fXC

2. How does an organism grow ? How does repair of worn out parts take

place ? Is there any form of reproduction involved in the process ?

° Watch Video Solution

3. How does an organism grow ? How does repair of worn out parts take

place ? Is there any form of reproduction involved in the process ?

° Watch Video Solution

4. Why do fish and frog produce a huge number of eggs each year ?

° Watch Video Solution

5. Give examples and explain what is meant by external fertilisation.

° Watch Video Solution



https://dl.doubtnut.com/l/_Qh2I4bDv4Amy
https://dl.doubtnut.com/l/_D9fCFvpKWTIW
https://dl.doubtnut.com/l/_AlrTkU9LmgVV
https://dl.doubtnut.com/l/_WVmdUtGLXaCd
https://dl.doubtnut.com/l/_rbkk4i3agacv

6. Write differences between

Grafting -Layering

o Watch Video Solution

7. Write differences between

Stamen -Carpel

o Watch Video Solution

8. Explain the process of fertilization in plants.

o Watch Video Solution

9. Double fertilization is wonderful phenomenon in flowering plants.

Explain double fertilization in flowering plant with the help of a diagram.

o Watch Video Solution



https://dl.doubtnut.com/l/_rbkk4i3agacv
https://dl.doubtnut.com/l/_hjJhuA0yjgAT
https://dl.doubtnut.com/l/_stPy8xnYTC4v
https://dl.doubtnut.com/l/_yzZgbLWJ3XqB

10. An example of asexual reproduction in plants is

o Watch Video Solution

1. What are the advantages of propagating plants with the above

methods ?

o Watch Video Solution

12. What are the advantages of sexual reproduction over asexual

reproduction?

o Watch Video Solution

13. How are sperms cells adapted for their function?

o Watch Video Solution



https://dl.doubtnut.com/l/_yzZgbLWJ3XqB
https://dl.doubtnut.com/l/_eY2r4T2SUtbT
https://dl.doubtnut.com/l/_4v2jPgxdipcX
https://dl.doubtnut.com/l/_XxljsUlLIq7N
https://dl.doubtnut.com/l/_fReNkISXC4Lk

14. The menstrual cycle prepares the uterus for a fertilised egg. How long

is an average menstrual cycle from start to finish ?

° Watch Video Solution

15. When the foetus is growing inside the uterus it needs nutrients. What

provides these nutrients ?

° Watch Video Solution

16. Which type of substances are absorbed by foetus from the mother ?

° Watch Video Solution

17. What is the job of the amniotic sac ?

° Watch Video Solution



https://dl.doubtnut.com/l/_lIMD8XQ4Xwb7
https://dl.doubtnut.com/l/_BSvgjaZPOqE7
https://dl.doubtnut.com/l/_Q2fd8wGwIWfv
https://dl.doubtnut.com/l/_651Tw1TeOPcO
https://dl.doubtnut.com/l/_r70LM026QsjY

18. What are the advantages of sexual reproduction ?

o Watch Video Solution

19. How does reproduction help in providing stability to populations of

species?

o Watch Video Solution

20. List the main differences between mitosis and meiosis.

o Watch Video Solution

21. What happens to the wall of the uterus during menstruation ?

o Watch Video Solution



https://dl.doubtnut.com/l/_r70LM026QsjY
https://dl.doubtnut.com/l/_oTPnGA1SEjdw
https://dl.doubtnut.com/l/_FNPfg590UDh7
https://dl.doubtnut.com/l/_l0Cui7rusFhq

22. 'All unicellular organisms undergo only mitotic cell division during

favourable conditions" - Do you support this statement ? Why ?

° Watch Video Solution

23. What would be the consequences if there is no meiosis in organisms

that reproduce sexually?

° Watch Video Solution

24.What happens if meiosis does not take place in reproductive cells?

° Watch Video Solution

25. Vicky's father wants to grow a single plant having two desirable
characters colourful flowers and big fruits. What method will you suggest

him and why?

| e |


https://dl.doubtnut.com/l/_WKkxXzwY3Mra
https://dl.doubtnut.com/l/_OQQzbE5buk3I
https://dl.doubtnut.com/l/_pyPXp5YZeawC
https://dl.doubtnut.com/l/_okRAXWhF0akW

I & Watch Video Solution

26. What procedure you will follow to observe stages of mitosis in onion

root tip?

° Watch Video Solution

27. Uproot an onion plant and take a thin section of its root tip. Stain it
and observe under microscope. Draw as you see and identify the stages

of the cell division.

° Watch Video Solution

28. Collect information from school library or using internet what
vegetative methods are followed in your district as well as in your state

to propagate various plants of economic importance.

° Watch Video Solution



https://dl.doubtnut.com/l/_okRAXWhF0akW
https://dl.doubtnut.com/l/_zRmgQYIhjaLz
https://dl.doubtnut.com/l/_TAwvaP1iAwbo
https://dl.doubtnut.com/l/_K40kUXY8BsPU

29. Make a flow chart to show the cell cycle and explain cell division

describing different stages of mitosis.

° Watch Video Solution

30. Draw neat labelled diagrams of male and female reproductive system

of plant.

° Watch Video Solution



https://dl.doubtnut.com/l/_sUqw4gwNwaHd
https://dl.doubtnut.com/l/_HyjpVOgJZ5o0

31. Observe the following part of a flowering plant. Prepare a note.

stigma

ovary
ovule

é‘ametuph}'t&
cells

embryo sac

Structure of ovitle

o Watch Video Solution

32. Prepare a flow to explain the process of sexual reproduction in plants.

o Watch Video Solution



https://dl.doubtnut.com/l/_gSEw9uJxoWd4
https://dl.doubtnut.com/l/_n6dM1IVWyXSU

33. Draw a neatly labelled diagram to explain plant fertilisation. Write a

few points on pollen grain.

° Watch Video Solution

34. How ill you appreciate cell division that help perpetuation of life?

° Watch Video Solution

35. What precautions will you take to away from various sexually

transmitted discases?

° Watch Video Solution

36. Conduct a seminar on child marriages and foeticide.

° Watch Video Solution



https://dl.doubtnut.com/l/_eHEEfLoo9NdW
https://dl.doubtnut.com/l/_YsvPcAq35V4W
https://dl.doubtnut.com/l/_mRozJXblVimA
https://dl.doubtnut.com/l/_SAwAw1Jk2ezz
https://dl.doubtnut.com/l/_kEXcaSl9em6I

37. The part of the female reproductive system that produces the

A. Ovary

B. Epididymis

C. Cervix

D. Fallopian tube

Answer:

o Watch Video Solution

38. The term that we use to describe a sperm cell fusing with an egg

A. Fragmentation

B. Fermentation

C. Fertilisation


https://dl.doubtnut.com/l/_kEXcaSl9em6I
https://dl.doubtnut.com/l/_3mj424XYSq0i

D. Fusion

Answer:

° Watch Video Solution

39. Which part of the male reprodutive system produces (human) the

sperm cell?

A. Vasdeference

B. Epididymis

C. Seminiferous tubules

D. Scrotum

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_3mj424XYSq0i
https://dl.doubtnut.com/l/_IXqjpheuoMuW

40. How does the sperm break throughthe egg cell membrance ? Choose

the option you think is right.

A. Tears a hole in the membrane

B. Dissolves the membrane with chemicals

C. Bites through the membrane with teeth

D. Squeezes through gaps in the membrane

Answer:

o Watch Video Solution

41. Why are egg cells large than sperm cells? Choose the option you think

is right.

A. Egg cells have more cells in them

B. Have food store to help growth after fertilisation

C. Have thicker cell membranes


https://dl.doubtnut.com/l/_D46QRQFiRt4p
https://dl.doubtnut.com/l/_ev5OySQyMvFy

D. Have larger nuclei

Answer:

° Watch Video Solution

42. Which of these things will affect the way a foetus grows? Choose the

option you thinkis right.

A. Chemicals in cigarette smoke

B. Alcohol

C.Drugs

D. All of the above

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ev5OySQyMvFy
https://dl.doubtnut.com/l/_PyTD8pp9vTny

43. Which of the following is the correct squence of steps in the human

life cycle? Choose the right option.

A. Babyhood, childhood, adolescence, adulthood

B. Childhood, babyhood, adulthood, adolescence

C. Adolescence, babyhood, adulthood, childhood

D. None of these

Answer:

o Watch Video Solution

44.How do you think bacteria were dividing to form curd?

o Watch Video Solution

45. Which type of fission would produce larger colonies in less period of

time . Why?


https://dl.doubtnut.com/l/_onpuIhYurzD1
https://dl.doubtnut.com/l/_HzwktgJSa43K
https://dl.doubtnut.com/l/_sjuEUwx1C9al

° Watch Video Solution

46. What mode of propagation would help you to produce the plants

with desirable characters?

° Watch Video Solution

47. Do you find any similarities between rhizopus and fern spores and

sporangia?

° Watch Video Solution

48.Think why testis are located outside the abdominal cavity?

° Watch Video Solution

49. What function do you think is served by petals and sepals?



https://dl.doubtnut.com/l/_sjuEUwx1C9al
https://dl.doubtnut.com/l/_6iZVz0kyk88Q
https://dl.doubtnut.com/l/_yIbREmClXPUq
https://dl.doubtnut.com/l/_Sn5aHiWnEyBU
https://dl.doubtnut.com/l/_K1QdXmgQVIAN

| ° Watch Video Solution

50. How many nuclei are present in the pollen grain?

° Watch Video Solution

51. Which floral part may be seen in a fruit?

° Watch Video Solution

52. How would it affect the progeny formed by sexual reoroduction ?

° Watch Video Solution

53.What is the virus that causes AIDS ?

° Watch Video Solution



https://dl.doubtnut.com/l/_K1QdXmgQVIAN
https://dl.doubtnut.com/l/_d6Gvnf0c0t3q
https://dl.doubtnut.com/l/_cLNOiKz9ZkAc
https://dl.doubtnut.com/l/_6uFGnAFOwZaG
https://dl.doubtnut.com/l/_SqobfhorbYLr
https://dl.doubtnut.com/l/_JFQ6BXxtcP4N

54.1s regeneration can also be known as a type of fragmentation? Do you

agree ? Why or why not?

° Watch Video Solution

55. Whether they reproduce by budding, fission or fragmentation ?

Organisms formed are the exact copies of their parents. Is it true? Why?

° Watch Video Solution

56. What about mushrooms, how do they grow? Discuss in your class.

° Watch Video Solution

57. How does the male reproductive cells reach the female reproductive

cells in flowers of such plants (pea plants)?

° Watch Video Solution



https://dl.doubtnut.com/l/_JFQ6BXxtcP4N
https://dl.doubtnut.com/l/_NyiBYLqsd1FT
https://dl.doubtnut.com/l/_6DSHwtuCeMIY
https://dl.doubtnut.com/l/_ZO0Sme18bPmM

58. What would happen if the gametes do not have half the

choromosome number as the skin parent?

° Watch Video Solution

59. Why did the government of india fix the marriage age of boys (21

years) and girls (18 years)?

° Watch Video Solution

60. Do you feel that it is a social responsibilities to control birth after

having one or two children?

° Watch Video Solution

61. What do you understand by the 'Healthy Society' ?

| ° Wiak~h \tAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_ZO0Sme18bPmM
https://dl.doubtnut.com/l/_KqfezP5nfixm
https://dl.doubtnut.com/l/_9gIH9yEBQZMb
https://dl.doubtnut.com/l/_KljSp1b70Z1K
https://dl.doubtnut.com/l/_zPkyQxtYGDkV

L YVULLIL VIMLUY JUVIVGIWVEL )

62. Will you encourage child marriage?

° Watch Video Solution

63. Why doctors are prohibited to do sex determination through

ultrasound scanning for pregnant women ?

° Watch Video Solution



https://dl.doubtnut.com/l/_zPkyQxtYGDkV
https://dl.doubtnut.com/l/_XSCtyBXKZQdi
https://dl.doubtnut.com/l/_aaoUp5G3OiTf

64. Label parts of flower given in figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_AvUVSlaMT3Lp

65. Draw the diagram of the flower that you collect and parts shown and

write their functions.

° Watch Video Solution

66. observe the following figures and write their functions.

° Watch Video Solution

67. List the main differences between mitosis and meiosis.

° Watch Video Solution



https://dl.doubtnut.com/l/_LSuwRgStnlTp
https://dl.doubtnut.com/l/_E4OEFsTPg3h3
https://dl.doubtnut.com/l/_YHU7kCO7RTjp

68. Social discrimination against AIDS patient is also a social evil . Can you

support this Why?

o Watch Video Solution

69. How are cotyledons useful for the plant?

o Watch Video Solution

70. In what way does mitotic division help the living organism ?

o Watch Video Solution

71. Give any two suggestions to create awareness to stop female

foeticide.

o Watch Video Solution



https://dl.doubtnut.com/l/_UfPYcWV3cyxs
https://dl.doubtnut.com/l/_73NOf9ZdwqK6
https://dl.doubtnut.com/l/_MFGRKiGpMuyI
https://dl.doubtnut.com/l/_UZ2QzzAkT6sH
https://dl.doubtnut.com/l/_cSPQrmuTBPzu

72. Write two precautions you take , while observing Rhizopus in the

laboratory.

o Watch Video Solution

73. Mention two materials you have used to observe Rhizopus on bread

mould.

o Watch Video Solution

74.dentify the flower parts a,b,c,d and write their main function.

o Watch Video Solution

75.Draw a labelled diagram of sperm.

o Watch Video Solution



https://dl.doubtnut.com/l/_cSPQrmuTBPzu
https://dl.doubtnut.com/l/_WCRdMAwPCtQF
https://dl.doubtnut.com/l/_vWmg0POCSE7D
https://dl.doubtnut.com/l/_ydsKKP7QXrPh
https://dl.doubtnut.com/l/_rrH2tuyJ9rrW

76. How we will get the desired useful triats with the help of two selected

triats by using grafting method ?

° Watch Video Solution

77. Write the process involved in seedless fruit development with two

suitable examples .

° Watch Video Solution

78. What precautions will you take to keep away from diseases like AIDS

and othersexually transmitted diseases ?

° Watch Video Solution

79. When does Parthenogenesis occur ? Write names of two animals in

which parthenogenesis takes place.

| o WMl L\ C ikl n


https://dl.doubtnut.com/l/_rrH2tuyJ9rrW
https://dl.doubtnut.com/l/_QM75r5Hi3WLJ
https://dl.doubtnut.com/l/_NLRcqp5OmkRQ
https://dl.doubtnut.com/l/_mEugW5V7FHMO
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80. Draw the figure of metaphase in mitosis, and write about it.

o Watch Video Solution

81. Prepare 4 questions on meiosis, to conduct a Quiz programme.

o Watch Video Solution

82. Describe the life cycle of a flowering plant with a help of labelled

diagrams.

o Watch Video Solution

83. What is foetus ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mEugW5V7FHMO
https://dl.doubtnut.com/l/_FkD8XIGSctR3
https://dl.doubtnut.com/l/_0xTeroccgFTr
https://dl.doubtnut.com/l/_chzdDpMPvDFX
https://dl.doubtnut.com/l/_7eKrP3BeOpZ5

84. What are the methods of artificial propagation ?

o Watch Video Solution

85. Mention the stages of mitosis with the help of diagrams . Explain the

changes that takes place in Prophase.

o Watch Video Solution

86. The role of double fertilization in angiosperms is to produce

o Watch Video Solution

87. What is the name of common bread mould ?

o Watch Video Solution



https://dl.doubtnut.com/l/_FAzAeLyRe03I
https://dl.doubtnut.com/l/_knMCLFqxp509
https://dl.doubtnut.com/l/_77bXjh0EKHQ7
https://dl.doubtnut.com/l/_61037eC31KOH

88. Describe different artificial vegetative methods to produce large scale

production plants.

o Watch Video Solution

89. What are the different part of a flower ?

o Watch Video Solution

90. During favourable conditions paramoecium reproduce by ?

o Watch Video Solution

91. In which organisms fragmentation is a common mode of reproduction

?

o Watch Video Solution



https://dl.doubtnut.com/l/_PjW3NyqI2Krd
https://dl.doubtnut.com/l/_9amrKZTfuOZU
https://dl.doubtnut.com/l/_MFIdgsTxEbPK
https://dl.doubtnut.com/l/_KsfW456S8K9A
https://dl.doubtnut.com/l/_oc5Lizz8pVtB

92. What is parthenogenesis ? Give example.

o Watch Video Solution

93. What are the methods of artificial propagation ?

o Watch Video Solution

94. Which method is used to obtain a plant with desirable characters ?

o Watch Video Solution

95. What is tissue chlture ?

o Watch Video Solution

96. What is the name of common bread mould ?



https://dl.doubtnut.com/l/_oc5Lizz8pVtB
https://dl.doubtnut.com/l/_CPVmxVsmY8xB
https://dl.doubtnut.com/l/_uoEnxADoskkE
https://dl.doubtnut.com/l/_rBB40LgSvthu
https://dl.doubtnut.com/l/_dks2y47n5r2n

_ o Watch Video Solution

97. What is fertilisation ?

o Watch Video Solution

98. Give examples and explain what is meant by external fertilisation.

o Watch Video Solution

99, What is internal fertilisation ?

o Watch Video Solution

100. What are the parts that present in male reproductive sysytem of man

?

o Watch Video Solution



https://dl.doubtnut.com/l/_dks2y47n5r2n
https://dl.doubtnut.com/l/_miV32TSk2Waa
https://dl.doubtnut.com/l/_2gl0GgcU7BJe
https://dl.doubtnut.com/l/_HZTHvWe01qOJ
https://dl.doubtnut.com/l/_7kw0NbkGnlTY

101. What are the accessory glands present in male reproductive system?

° Watch Video Solution

102.

What is ovulation?

° Watch Video Solution

103. Which of the following hormones is not secreted by human placenta?


https://dl.doubtnut.com/l/_7kw0NbkGnlTY
https://dl.doubtnut.com/l/_HaL7vKX8B1yM
https://dl.doubtnut.com/l/_E7yaNfy78bny
https://dl.doubtnut.com/l/_OVCdMcqHDxG0

° Watch Video Solution

104. The part of decidua where placenta is formed is called

° Watch Video Solution

105. What is the membrane that forms umbilical cord ?

° Watch Video Solution

106. What is foetus ?

° Watch Video Solution

107. What is gestation period ?

° Watch Video Solution



https://dl.doubtnut.com/l/_OVCdMcqHDxG0
https://dl.doubtnut.com/l/_wluUSlMoHMBW
https://dl.doubtnut.com/l/_lOjwpf2m8vNA
https://dl.doubtnut.com/l/_24Y1d7WRXujA
https://dl.doubtnut.com/l/_kU03HJ872WRh
https://dl.doubtnut.com/l/_gdYtRQOP8vrt

108. What is the gestation period in human beings ?

° Watch Video Solution

109. What are labour pains ?

° Watch Video Solution

110. What is the need of sexual reproduction ?

° Watch Video Solution

111. What are the different part of a flower ?

° Watch Video Solution

112. What are unisexual flower ?


https://dl.doubtnut.com/l/_gdYtRQOP8vrt
https://dl.doubtnut.com/l/_fYYVI69qKBQe
https://dl.doubtnut.com/l/_t6uTnbWj0HNO
https://dl.doubtnut.com/l/_MQXrIXT7Ko3p
https://dl.doubtnut.com/l/_YiPu189HaVnt

° Watch Video Solution

113. What are the three parts of carpel ?

° Watch Video Solution

114. What is self pollination ?

° Watch Video Solution

115. What is cross pollination ?

° Watch Video Solution

116. What is double fertilisation ?

° Watch Video Solution



https://dl.doubtnut.com/l/_YiPu189HaVnt
https://dl.doubtnut.com/l/_uVNyhi0jSHpK
https://dl.doubtnut.com/l/_KEEPohHghqn6
https://dl.doubtnut.com/l/_Qa0W6JpNlHpk
https://dl.doubtnut.com/l/_Xp1l3CvAfuxp
https://dl.doubtnut.com/l/_biLQu3oPpiA0

117. Who discovered mitosis ?

° Watch Video Solution

118. What is the meaning of the phase "Omnis cellula de cellula" ?

° Watch Video Solution

119. Which of the following organisms is not an example of eukaryotic

cells?

° Watch Video Solution

120. What is interphase ?

° Watch Video Solution



https://dl.doubtnut.com/l/_biLQu3oPpiA0
https://dl.doubtnut.com/l/_QGN68jCfUxaC
https://dl.doubtnut.com/l/_pw6cSnEiq5v7
https://dl.doubtnut.com/l/_rfWsUbCsou3t

121. What is G; phase of the interphase?

o Watch Video Solution

122. What is 'S’ phase of the interphase ?

o Watch Video Solution

123. What is G5 phase of the interphase ?

o Watch Video Solution

124. What are the different stages present in mitosis ?

o Watch Video Solution

125. When does meiosis occur ?


https://dl.doubtnut.com/l/_jeh0qyBCYezm
https://dl.doubtnut.com/l/_oV8TCy5jniwG
https://dl.doubtnut.com/l/_aANZMRdXlV5u
https://dl.doubtnut.com/l/_FRqnvBk2BXG6
https://dl.doubtnut.com/l/_eHdbm7wwf1z8

° Watch Video Solution

126. What is the virus that causes AIDS ?

° Watch Video Solution

127. How does AIDS spread from one person to another ?

° Watch Video Solution

128. What are the factors that contribute to the spread of HIV in the

state?

° Watch Video Solution

129. What is contraception ?

° Watch Video Solution



https://dl.doubtnut.com/l/_eHdbm7wwf1z8
https://dl.doubtnut.com/l/_gd5uWYhCIAGN
https://dl.doubtnut.com/l/_zRllrJwAJNGz
https://dl.doubtnut.com/l/_7olj7QEbuyNl
https://dl.doubtnut.com/l/_wCopYjOzax41

130. What are the surgical methods to prevent fertilisation ?

° Watch Video Solution

131. Why did the government of india fix the marriage age of boys (21

years) and girls (18 years)?

° Watch Video Solution

132. What is foeticide ?

° Watch Video Solution

133. Who used cells fusion technique to understand the functional

relationship between different phases of interphase ?

° Watch Video Solution



https://dl.doubtnut.com/l/_wCopYjOzax41
https://dl.doubtnut.com/l/_uTj7h22ZrbRp
https://dl.doubtnut.com/l/_hNvQYBYkHg6n
https://dl.doubtnut.com/l/_vxujULxaEccC
https://dl.doubtnut.com/l/_9Al2322mqizn

134. Give examples for sexually transmitted diseases (STDs).

° Watch Video Solution

135. What is the advantage of reproduction through spores in the case of

rhizopus ?

° Watch Video Solution

136. Which process taking place in the nucleus of a cell leads to variation

in the offspring during reproduction ?

° Watch Video Solution

137. Why it is said that sexual reproduction promotes diversity of

characters in the offspring ?

. l


https://dl.doubtnut.com/l/_9Al2322mqizn
https://dl.doubtnut.com/l/_XGVb8KZX7EDO
https://dl.doubtnut.com/l/_CNzwKQoq56I0
https://dl.doubtnut.com/l/_iu0PbffwrDgL
https://dl.doubtnut.com/l/_OlP16I4sMFo7

| ¥ vvatch vidaeo sSolution J

138. Name the causative organism of syphilis and gonorrhoea .

° Watch Video Solution

139. Why are variation possible in progeny of sexually reproductive

individuals ?

° Watch Video Solution

140. The simple animals such as planarism can be cut number of pieces
and each piece grows into a complex organism. What is this process

known as ?

° Watch Video Solution



https://dl.doubtnut.com/l/_OlP16I4sMFo7
https://dl.doubtnut.com/l/_48RgNFO3NRLO
https://dl.doubtnut.com/l/_ID2S8JU1YxCK
https://dl.doubtnut.com/l/_tAiYY5x6vNbM

141. A student kept leaves of Bryophyllum in the soil. After few days new

plants were grown from them. Why ?

° Watch Video Solution

142. Name the three plants which are now grown using plant tissue

culture method.

° Watch Video Solution

143. What does the mother's blood take away from the baby and into the

placenta ?

° Watch Video Solution

144. Write slogans on 'child marriages - a social evil'.

° Watch Video Solution



https://dl.doubtnut.com/l/_s5cykOISVTCc
https://dl.doubtnut.com/l/_Uko4JQuk0tpQ
https://dl.doubtnut.com/l/_Vc0VbQf5g0Gi
https://dl.doubtnut.com/l/_lO9eHC2sFr4I

145. Write 5 slogans on the prevention of HIV/ AIDS .

° Watch Video Solution

146. Write briefly about natural vegetative propagation.

° Watch Video Solution

147. What is the prevent scenario of HIV infection in Andhra Pradesh and
Telangana ?

What are the causes for HIV infection ?

° Watch Video Solution

148. What is the prevent scenario of HIV infection in Andhra Pradesh and

Telangana ?


https://dl.doubtnut.com/l/_lO9eHC2sFr4I
https://dl.doubtnut.com/l/_kPYY3yU4GXdN
https://dl.doubtnut.com/l/_a4nGl8LxuyeT
https://dl.doubtnut.com/l/_UZmOtOW2oPEl
https://dl.doubtnut.com/l/_scAMxp4t555J

What are the causes for HIV infection ?

° Watch Video Solution

149. From the sexually transmitted diseases mentioned below. Identify the

one which does not specifically affect the sex organs.

° Watch Video Solution

150. Why do more complex orgaisms not give rise to new individual

through regeneration ?

° Watch Video Solution

151. What are the advantages of vegetative propagation ?

° Watch Video Solution



https://dl.doubtnut.com/l/_scAMxp4t555J
https://dl.doubtnut.com/l/_neNe28dmyrJl
https://dl.doubtnut.com/l/_xWTCFXMMnqyl
https://dl.doubtnut.com/l/_dtY5CNpGK7E3

152. How will an organism be benefited if it reproduces through spores ?

° Watch Video Solution

153. Placenta is very important during pregnancy. What is the role of it in

embryo development ?

° Watch Video Solution

154. What causes joining up of stock and scion grafting technique of

vegetative propagation in plants ?

° Watch Video Solution

155. How does binary fission differ from multiple fission?

° Watch Video Solution



https://dl.doubtnut.com/l/_N4SX81tOhCc9
https://dl.doubtnut.com/l/_h0AhECd8bYAR
https://dl.doubtnut.com/l/_SqrGFbha5D7Y
https://dl.doubtnut.com/l/_qxLafP415wjl
https://dl.doubtnut.com/l/_S3L8XyLEiP1H

156. Why is DNA copying an essential part of the process of reproduction?

° Watch Video Solution

157. Differentiate between asexual reproduction and sexual reproduction .

° Watch Video Solution

158. Differentiate between unisexual and bisexual flower. Give two

examples of each .

° Watch Video Solution

159. How is the process of pollination different from fertilisation?

° Watch Video Solution



https://dl.doubtnut.com/l/_S3L8XyLEiP1H
https://dl.doubtnut.com/l/_lZoeD5Jex7KZ
https://dl.doubtnut.com/l/_OqSJZGq8mVgR
https://dl.doubtnut.com/l/_KLAvKdsthxbo

160. If a woman is using a copper-T, will it help in protecting her from

Sexuallu transmitted diseases?

° Watch Video Solution

161. Arjun Tendulkar injured his knees while fielding at ground. The injury
was headed after some days . Arjun was eager to know the process

behind it . Describe the process involved in wound healing.

° Watch Video Solution

162. Why is vegetative propagation practised for growing some types of

plants?

° Watch Video Solution

163. Vegetative propagation is preferred by

| e |


https://dl.doubtnut.com/l/_rPDczuz3PLM9
https://dl.doubtnut.com/l/_gkYrvC2FBOys
https://dl.doubtnut.com/l/_Bs33brG5GxMh
https://dl.doubtnut.com/l/_rx2PqC65p25d

l & Watch Video Solution J

164. Accourding to weismann prediction , every organism undergoes two
kinds of cell divisions. In mitosis, there is no change in chromosomal
number (2n) and in Meiosis, chromosomal number is reduced to half (n).

(iii) What happens , if chromosomal number is not reduced in meiosis ?

° Watch Video Solution

165. In Meiosis , the chromosome number in the daughter cells are
reduced to half that of their parent cells . Guess, what would happen , if

the reduction of chromosome number is not done.

° Watch Video Solution

166. What are the questions you asked the doctor who visited your school

to know "the ways of transmission of HIV" ?

° Watch Video Solution



https://dl.doubtnut.com/l/_rx2PqC65p25d
https://dl.doubtnut.com/l/_hDirMNuDHNYi
https://dl.doubtnut.com/l/_JcANU7aCV1fq
https://dl.doubtnut.com/l/_5F3lSviYb1vB

167. Among the following organisms can we see asexual reproduction .
Write about the method of asexual reproduction in any of the two
organisms.

(a) Paramoecium (b) Yeast (c) Spirogyra (d) Amoeba (e) Planaria

o Watch Video Solution

168. See the adjacent picture.Which type of pollination will occur in this?

Why do you think so?


https://dl.doubtnut.com/l/_5F3lSviYb1vB
https://dl.doubtnut.com/l/_GSPG9pdS9X0Q
https://dl.doubtnut.com/l/_wcvRtceiTvWd

° Watch Video Solution

169. Describe different artificial vegetative methods to produce large scale

production plants.

| ° Watch Video Solution


https://dl.doubtnut.com/l/_wcvRtceiTvWd
https://dl.doubtnut.com/l/_ng4gV2DsSzOS

170. Differentiate between asexual reproduction and sexual reproduction

° Watch Video Solution

171. 1+

Identify the above shown artificial vegetative propagation.

° Watch Video Solution

172. Describe the types of vegetative propagation.

° Watch Video Solution

173. The shared terminal duct of the urinary system and the male

reproductive system in human beings is



https://dl.doubtnut.com/l/_ng4gV2DsSzOS
https://dl.doubtnut.com/l/_41D5LHaQeTXw
https://dl.doubtnut.com/l/_lMWaWcAjfSad
https://dl.doubtnut.com/l/_WJw4rbRFXY3z
https://dl.doubtnut.com/l/_C2V7V8ItZZ7d

I ° Watch Video Solution

174. Describe the structure of male reproductive system in human beings.

° Watch Video Solution

175. Which of the following is not a part of the female reproductive

system in human beings?

° Watch Video Solution

176. Draw the neat labelled diagram showing the birth of a child before

delivery.

° Watch Video Solution

177. Describe the structure of flower with a neatly labelled diagram.



https://dl.doubtnut.com/l/_C2V7V8ItZZ7d
https://dl.doubtnut.com/l/_kJMvjYRdpCO3
https://dl.doubtnut.com/l/_ajHHwvjYC8Aw
https://dl.doubtnut.com/l/_rmfmuPix8Uqv
https://dl.doubtnut.com/l/_LFEmFFVjw8xH

l o Watch Video Solution J

178. Why meiosis is called reduction division?

° Watch Video Solution

179. What is contraception ?

° Watch Video Solution

180. Describe the developmental stages of human embryo after

fertilization with the help of neatly labelled diagrams.

° Watch Video Solution

181. How does cell division help in the formation of unicellular and highly

evolved multicellular organisms like human being?

[ o |


https://dl.doubtnut.com/l/_LFEmFFVjw8xH
https://dl.doubtnut.com/l/_sPl945I0R6mP
https://dl.doubtnut.com/l/_BWpKSwvBSILA
https://dl.doubtnut.com/l/_kq01sgUn1Nj6
https://dl.doubtnut.com/l/_Xp9ftNwdFlto

l & Watch Video Solution ]

182. Illustrate the process of regeneration in planaria with the help of

suitable diagram.

° Watch Video Solution

183. What are the consequences if meiosis not happen in the body cells of

the organism. ?

° Watch Video Solution

184. What happens is flowering plant if single fertilization only takes place

?

° Watch Video Solution



https://dl.doubtnut.com/l/_Xp9ftNwdFlto
https://dl.doubtnut.com/l/_9sOVzXFPODi1
https://dl.doubtnut.com/l/_a7cToUiXcvqa
https://dl.doubtnut.com/l/_9XqpLfb2OQGQ

185. What happens if the fallopian tubes are partially blocked and the

ovulated eggs are prevented from reaching the uterus ?

° Watch Video Solution

186. What will happen if there is no mitosis at all in living organisms ?

° Watch Video Solution

187. Ravi's father wants to cultivate potato in his field . He wants to clarify
some doubts with the agriculturals officer. Prepare a list of doubts in

form of questions for him .

° Watch Video Solution

188. What procedure do you adopt to see pollen grain with tube ?

° Watch Video Solution



https://dl.doubtnut.com/l/_XhtO7bCs5AZ4
https://dl.doubtnut.com/l/_Jo3QxfUXGgvL
https://dl.doubtnut.com/l/_5Ta52z7Rnn18
https://dl.doubtnut.com/l/_Fp7MqF1xzmT5

189. Sameer wants to observe Rhizopus under microscope. For this i)
What are preparatory activities he has to do? ii) What procedure does he

follow? And iii) What precautions should he take?

° Watch Video Solution

190. How will you stain a microscopic slide showing mitosis in onion roots

?

° Watch Video Solution

191. Draw the life history of flowering plant in the form of block diagram.

° Watch Video Solution



https://dl.doubtnut.com/l/_Fp7MqF1xzmT5
https://dl.doubtnut.com/l/_U62tx0IQyo6C
https://dl.doubtnut.com/l/_Q5nibklv3qoy
https://dl.doubtnut.com/l/_OXBTV3F8shyM

192. Label the parts for given diagram and write functions of labelled

parts 1,2,6 and 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_rjQzB3kDpKj5
https://dl.doubtnut.com/l/_EJAGv4Nb5hYl

193. Draw a labelled diagram of female reproductive system.

° Watch Video Solution

194. Arjun Tendulkar injured his knees while fielding at ground. The injury
was headed after some days . Arjun was eager to know the process

behind it . Describe the process involved in wound healing.

° Watch Video Solution



https://dl.doubtnut.com/l/_EJAGv4Nb5hYl
https://dl.doubtnut.com/l/_tfypJoqx92mo

195. Identify the given picture. What is the message given by it?

o Watch Video Solution

196. What programmes you would like to conduct to explain the

relationship between cleanliness and health?

o Watch Video Solution

197. Describe what life skills one should develop in Adolescent stage.


https://dl.doubtnut.com/l/_wXwGUrk12nn6
https://dl.doubtnut.com/l/_KGm9cVksCbOi
https://dl.doubtnut.com/l/_rD5iSe5lvT25

o Watch Video Solution

198. Write some slogans against female foeticide.

o Watch Video Solution

199. Identify the correct sequence.

(A) Prophase — Anaphase — Telophase — Metaphase

(B) Prophase — Metaphase — Anaphase — Telophase

(C) Metaphase — Telophase — Prophase — Anaphase

(D) Prophase — Anaphase — Metaphase — Telophase
A. Prophase — AnaphaserarrTelophaserarr’ Metaphase
B. Prophase — Metaphase — Anaphase — Telophase

C. Metaphase — Telophase — Prophase — Anaphase

D. Prophase — Anaphase — Metaphase — Telophase

Answer:


https://dl.doubtnut.com/l/_rD5iSe5lvT25
https://dl.doubtnut.com/l/_2H6TFsmuS87u
https://dl.doubtnut.com/l/_UtWIt2SKeokJ

° Watch Video Solution

200. Name the part that produces the sperm cells or male reproductive

cells in the male reproductive system ?

A. Seminal duct

B. Prostate gland

C. Testes

D. Seminal vesicle

Answer:

o Watch Video Solution

201. In plants, the fusion of male gamete with secondary nucleus results

is ?

A. Embryo-sac


https://dl.doubtnut.com/l/_UtWIt2SKeokJ
https://dl.doubtnut.com/l/_4WluoOe6gpGk
https://dl.doubtnut.com/l/_HnQmKI42WWuZ

B. Endosperm

C. Cotyledons

D. Spores

Answer:

° Watch Video Solution

202. Name the body part which has divisonless cells.

A. Brain

B. Lungs

C.Kidney

D. Stomach

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HnQmKI42WWuZ
https://dl.doubtnut.com/l/_EQrHGMyFzNr6
https://dl.doubtnut.com/l/_yq7CUGvPuAOD

203. What are the functions of testes during puberty ?

A. (i)And (iii)

B. (ii)and(iv)

C. (iii)and(iv)

D. (i)and(ii)

Answer:

o Watch Video Solution

204. Among the following organisms can we see asexual reproduction .
Write about the method of asexual reproduction in any of the two
organisms.

(a) Paramoecium (b) Yeast (c) Spirogyra (d) Amoeba (e) Planaria

A. Hibiscus

B. Tridax


https://dl.doubtnut.com/l/_yq7CUGvPuAOD
https://dl.doubtnut.com/l/_Aai0zAVQ7aaJ

C. Marigold

D. Fern

Answer:

o Watch Video Solution

205. Name the structures found in a bean seed shown in the figure.

A. Cotyledon and radicle.

B. Plumule and cotyledon.

C. Cotyledon and endosprem


https://dl.doubtnut.com/l/_Aai0zAVQ7aaJ
https://dl.doubtnut.com/l/_5Dvv7VaBnuCJ

D. Plummle and radicle

Answer:

° Watch Video Solution

206. Write the stage of cell division .

A. Prophase.


https://dl.doubtnut.com/l/_5Dvv7VaBnuCJ
https://dl.doubtnut.com/l/_rW9tUNplx0Kx

B. Metaphase

C. Anaphase

D. Telophase

Answer:

o Watch Video Solution

207. Given below is a schematic break-up of the phases/stages of cell

cycle. Which one of the following is the correct indication of the


https://dl.doubtnut.com/l/_rW9tUNplx0Kx
https://dl.doubtnut.com/l/_IY8QaQYJQuXu

stage/phase in the cell cycle?

IC

A2—+1—-4—3

B4—-1—-2—3

C4—-2—-3—>1

D.1 -3 —>4— 2


https://dl.doubtnut.com/l/_IY8QaQYJQuXu

Answer:

° Watch Video Solution

208. The type of vegetative propagation seen in Chrysanthemumis

A. Layering

B. Cutting

C. Stolon

D. Corms

Answer:

° Watch Video Solution

209. Protists which are diploid reproduce sexually by the process of

A. Nutrition


https://dl.doubtnut.com/l/_IY8QaQYJQuXu
https://dl.doubtnut.com/l/_K7nIeBzErEpY
https://dl.doubtnut.com/l/_CrsxN1k8o4jL

B. Reproduction

C. Excretion

D. Circulation

Answer:

o Watch Video Solution

210. A few statements with regard to sexual reproduction are given below
(i) Sexual reproduction does not always require two individuals

(ii) Sexual reproduction generally involves gametic fusion

(iii) Meiosis never occurs during sexual reproduction

(iv) External fertilisation is a rule during sexual reproduction

Choose the correct statements from the options below

A. Single organism

B. Only mitotic cell division

C. Formation of gametes


https://dl.doubtnut.com/l/_CrsxN1k8o4jL
https://dl.doubtnut.com/l/_juUDGUDhzs84

D. Production of identical offspring resembling parent

Answer:

° Watch Video Solution

211. In stem cuttings, a slanting cut is made in the stem

A. Below the node

B. Above the node

C.On the node

D. Across the node

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_juUDGUDhzs84
https://dl.doubtnut.com/l/_t8sYlsVPzvd4

212. Among the following organisms can we see asexual reproduction .
Write about the method of asexual reproduction in any of the two
organisms.
(a) Paramoecium (b) Yeast (c) Spirogyra (d) Amoeba (e) Planaria

A. Recombination of genetic material

B. Production of new characters in the offspring

C. Production of identical offspring

D. Occurrence of reduction division before gamete formation

Answer:

o Watch Video Solution

213. What are the most important floral organs required for sexual

reproduction ?

A. Calyx, Corolla


https://dl.doubtnut.com/l/_xl5Abm6d8tJi
https://dl.doubtnut.com/l/_5ZOojHSwWUj5

B. Corolla and Androecium

C. Gynoecium and Thalamus

D. Gynoecium and Androecium

Answer:

° Watch Video Solution

214. Where do you observe diploid condition in the embryo sac at the

time of fertilization ?

A Egg

B. Synergids

C. Secondary nucleus

D. Antipodals

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_5ZOojHSwWUj5
https://dl.doubtnut.com/l/_Hk0KHB7u2Lur

215. Find out the correct sentence a) Endosperm is formed from the
fusion of male nucleus with secondary nucleus b) Endosperm converts

into a seed

A Egg

B. Secondary nucleus

C. Zygote

D. Synergids

Answer:

o Watch Video Solution

216. External fertilisation occurs in which of the following pairs of animals

?

A. Frog, rat


https://dl.doubtnut.com/l/_Hk0KHB7u2Lur
https://dl.doubtnut.com/l/_b3dHkHbU3Fbl
https://dl.doubtnut.com/l/_G32dyU1sJcBt

B. Crow, fish

C. Snake, fish

D. Frog, fish

Answer:

° Watch Video Solution

217. Male reproductive system consist of

A. Umbilical cord

B. Testis

C. Fallopian tube

D. Placenta

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_G32dyU1sJcBt
https://dl.doubtnut.com/l/_7RV9BJgyEIrW
https://dl.doubtnut.com/l/_4sQ7xOGhdlCu

218. Seminiferous tubules occur in

A. Urethra

B. Fallopian tubes

C. Vasefferentia

D. Testis

Answer:

o Watch Video Solution

219. The vas deferens receives duct from the seminal vesicle and opens

into urethra as

A. Epididymis

B. Vas deferens

C. Vasefferentia

D. Urethra


https://dl.doubtnut.com/l/_4sQ7xOGhdlCu
https://dl.doubtnut.com/l/_uv9SNbN3U78c

Answer:

° Watch Video Solution

220. ovary — .. — Ovum — Ovulation

Uterus. What will be in the box?

A. Epididymis

B. Vas deferens

C. Fallopian tube (or) oviduct

D. Uterus

Answer:

— Fallopian tube —

° Watch Video Solution

221. Number of ova released at a time in female human being is



https://dl.doubtnut.com/l/_uv9SNbN3U78c
https://dl.doubtnut.com/l/_ULPpIQfi3w8b
https://dl.doubtnut.com/l/_Mtv7eptlt05d

A 4

B.3

C.2

D.1

Answer:

° Watch Video Solution

222. Foetus is connected to the wall of uterus of the mother by

A. Placenta

B. Umbilical cord

C. Fallopian tube

D. Epididymis

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Mtv7eptlt05d
https://dl.doubtnut.com/l/_7hMR7eWW5iYJ

223. Whether they reproduce by budding, fission or fragmentation ?

Organisms formed are the exact copies of their parents. Is it true? Why?

A. Paramoecium

B. Euglena

C. Yeast

D. Amoeba

Answer:

° Watch Video Solution

224.Why is reproduction essential for organisms?

A. It keeps the individual alive

B. Fulfil the energy requirement

C. Maintain growth


https://dl.doubtnut.com/l/_7hMR7eWW5iYJ
https://dl.doubtnut.com/l/_24UVtDcp6WtR
https://dl.doubtnut.com/l/_gFanKrv7lI0H

D. Continue the specias forever

Answer:

° Watch Video Solution

225. Bakane disease is caused by

A. Herpes

B. Aids

C. Mumps

D. Gonorrhoea

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_gFanKrv7lI0H
https://dl.doubtnut.com/l/_P9pCmcecprDM

226. Name the method of contraception protects a person from acquiring

a sexually transmited disease.

A. Spermicides

B. Vasectomy

C. Tubectomy

D. Condom

Answer:

o Watch Video Solution

227.1 am a surgical birth control method in males. Who am 1 ?

A. Copper T

B. Oral pills

C. Vasectomy

D. Tubectomy


https://dl.doubtnut.com/l/_zbMd10bBorm4
https://dl.doubtnut.com/l/_GhxCaBwf1FGQ

Answer:

° Watch Video Solution

228. Name the part of the seed which grows and develops into root on

germination.

A. episcotyl

B. Hypocotyl

C.Radicle

D. Plumule

Answer:

° Watch Video Solution

229. In which organisms fragmentation is a common mode of

reproduction ?


https://dl.doubtnut.com/l/_GhxCaBwf1FGQ
https://dl.doubtnut.com/l/_hD1XkWfA6OXq
https://dl.doubtnut.com/l/_HoH9Nv5CfONL

A. Algae

B. Fungi

C.Algae, Fungi

D. None

Answer:

o Watch Video Solution

230. The process by which unfertilized egg develops into an individual is

known as

A. Regeneration

B. Parthenogenesis

C. Fragmentation

D. Budding

Answer:



https://dl.doubtnut.com/l/_HoH9Nv5CfONL
https://dl.doubtnut.com/l/_RyLFWffz7Z3f

| ° Watch Video Solution

231. Natural parthenogenesis occurs in:

A. Bees

B. Ants

C. Wasps

D. All

Answer:

° Watch Video Solution

232. Why do more complex orgaisms not give rise to new individual

through regeneration ?

A. Budding

B. Regeneration


https://dl.doubtnut.com/l/_RyLFWffz7Z3f
https://dl.doubtnut.com/l/_XlFydnijqcGy
https://dl.doubtnut.com/l/_9BJ2R1HLh9CD

C. Parthenogenesis

D. Fission

Answer:

o Watch Video Solution

233.Small plants grow at the edge of leaves of

A. Bryophyllum

B. Dahila

C. Allium cepa

D. Vallisneria

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_9BJ2R1HLh9CD
https://dl.doubtnut.com/l/_x5rdHaaG2Zek

234. What mode of propagation would help you to produce the plants

with desirable characters?

A. Cutting

B. Layering

C. Grafting

D. Budding

Answer:

o Watch Video Solution

235. Spore producing plants are

A. Fungi, Bacteria

B. Ferns, Mosses

C. Fungi, Bacteria, Ferns and Mosses

D. None


https://dl.doubtnut.com/l/_26mh9bXdsh8c
https://dl.doubtnut.com/l/_Szh1qIqvqzkr

Answer:

° Watch Video Solution

236. Consider the following sentences a- Production of sperms start from

the age 13 in males. B - Production of ova starts at the same age in

females.

A.13 or 14 years

B. 14 or 15 years

C.15 or 16 years

D. 12 or 13 years

Answer:

° Watch Video Solution

237. What is umblical cord?How does it form?


https://dl.doubtnut.com/l/_Szh1qIqvqzkr
https://dl.doubtnut.com/l/_gG8mUdP6lX4G
https://dl.doubtnut.com/l/_EDjuj48AC5U7

A. Chorion

B. Allantois

C. Amnion

D. All

Answer:

° Watch Video Solution

238. What is the gestation period in human beings ?

A. 280 days

B. 330 days

C. 300 days

D. 260 days

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EDjuj48AC5U7
https://dl.doubtnut.com/l/_GKyWdu42qZrS

239. The tree that grows in Himalayan mountain is

A. Sal

B. Cactus

C. Orchid

D. Potato

Answer:

o Watch Video Solution

240. If a flower constains both stamen and carpel, then what do we cells

this flower?

A. Bisexual

B. Unisexual

C. Hermaphrodite


https://dl.doubtnut.com/l/_GKyWdu42qZrS
https://dl.doubtnut.com/l/_MkyyOcAJZeOs
https://dl.doubtnut.com/l/_y9ywq5MY56q4

D. Multi sexual

Answer:

° Watch Video Solution

241. "Plants perfect self pllination, when they are isolated ' - Who said

these words ?

A. Darwin

B. Lamarck

C. Mendel

D. Walther Flemming

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_y9ywq5MY56q4
https://dl.doubtnut.com/l/_CUlgYjf290QN

242. Seed formation without fertilisation in flowering plants involves the

process of

A. Fruit

B. Seed

C.Bud

D. All

Answer:

o Watch Video Solution

243. Who discovered mitosis ?

A. Walther Flemming

B. Theodar Boveri

C. Augustus weisemann

D. Charles Darwin


https://dl.doubtnut.com/l/_XBbuyG5TJ1V6
https://dl.doubtnut.com/l/_3cWc1ny295Kz

Answer:

° Watch Video Solution

244, What is interphase ?

A. The time of active division

B. It is the period when the genetic material makes its copy

C. It is divided into four phase

D. All

Answer:

° Watch Video Solution

245. Name the phase of mitosis in which chromosomes split together to

form chomatids.


https://dl.doubtnut.com/l/_3cWc1ny295Kz
https://dl.doubtnut.com/l/_kn3DpgDrYfc8
https://dl.doubtnut.com/l/_vY1LZ4uxBxLN

A. Prophase

B. Metaphase

C. Anaphase

D. Telophase

Answer:

o Watch Video Solution

246. Name the part which is asked as a question mark ?

At
Sovemdany  Nuchow

Nheruds
7

A. Granular cell


https://dl.doubtnut.com/l/_vY1LZ4uxBxLN
https://dl.doubtnut.com/l/_haAMzRoxGvdh

B. Polar cell

C.Egg cell

D. Hard cell

Answer:

° Watch Video Solution

247.What are the programmes implimenting to control AIDS in our state

?

A. ASHA

B. Red ribbon express

C.Both Aand B

D. ART Centres

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_haAMzRoxGvdh
https://dl.doubtnut.com/l/_hkENK6aDLra1

248. What are the advantages of sexual reproduction ?

A. Mutations

B. Genetic Recombination

C. Cell division in developing embryos

D. Union of gametes

Answer:

o Watch Video Solution

249. Production or fusion of gametes does not takes place in this kind of

reproduction.

A. Asexual

B. Sexual

C. Conjugation


https://dl.doubtnut.com/l/_hkENK6aDLra1
https://dl.doubtnut.com/l/_gd6QIGdekARe
https://dl.doubtnut.com/l/_wxWyCReznZ9y

D. None of the above

Answer:

° Watch Video Solution

250. In asexual reproduction of the following group, a large number of

spores are formed in special structures.

A.Fungi

B. Fern

C. Mosses

D. All the above

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wxWyCReznZ9y
https://dl.doubtnut.com/l/_I6ClaWxz3Srj

251. Where do you observe epiphyllous buds?

A. Potato

B. Chrysanthemum

C. Bryophyllum

D. Sugarcane

Answer:

o Watch Video Solution

252. What are the advantages of grafting?

A. New tissue between the grafts

B. New tissue in stock part

C. New tissue in scion part

D. Secondary tissue in stock part


https://dl.doubtnut.com/l/_ddSJDVBLebgP
https://dl.doubtnut.com/l/_uOzNeueYVBG6

Answer:

° Watch Video Solution

253. Chromosomal number becomes half in certain types of cells in cell

division. This type of cell division takes place in

A. Testis only

B. Ovaries only

C. Both Testis an ovaries

D. All the body cells

Answer:

° Watch Video Solution

254.In humans at the end of the first meiotic division, the male germ cells

differentiate into the


https://dl.doubtnut.com/l/_uOzNeueYVBG6
https://dl.doubtnut.com/l/_WPNxv06Skns5
https://dl.doubtnut.com/l/_dk8WgP7CfFIE

A. Germ cells

B. Somatic cells

C. Zygote

D. All the above

Answer:

o Watch Video Solution

255. What is the first cells formed after the union of male gametes will

egg ?

A. Zygospore

B. Zygote

C.Zoospore

D. Blastula

Answer:



https://dl.doubtnut.com/l/_dk8WgP7CfFIE
https://dl.doubtnut.com/l/_meYa1x5jzAqg

| ° Watch Video Solution

256. Foetus is connected to the wall of uterus of the mother by

A. Umbilical cord

B. Amnion

C. Placenta

D. Chorian

Answer:

° Watch Video Solution

257. With what name do you call the embryo after the third month of

pregnancy ?

A. Second month of pregnancy

B. Fourth month of pregnancy


https://dl.doubtnut.com/l/_meYa1x5jzAqg
https://dl.doubtnut.com/l/_PtOevfInkBSL
https://dl.doubtnut.com/l/_GQSKUtYUwVNA

C. First month of pregnancy

D. Third month of pregnancy

Answer:

° Watch Video Solution

258. The process of release of ovum from a mature follicle is called

A. Fallopian tube

B. Seminiferous tubules

C. Graffian follicles

D. Corpus Luteum

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GQSKUtYUwVNA
https://dl.doubtnut.com/l/_MFciqyl00RV3
https://dl.doubtnut.com/l/_aBMNocGK9mk0

259. The following accessory glands of male reproductive system removal

leads to generally sterelity in males

A. One prostrate gland, One cowper gland

B. One prostrate gland, Two cowper glands

C. Two prostrate glands, One cowper glands

D. Two prostrate glands, Two cowper glands

Answer:

o Watch Video Solution

260. Curdling of milk indicates the increase in number of

A. Bacteria

B. Virus

C. Fungus

D. All the above


https://dl.doubtnut.com/l/_aBMNocGK9mk0
https://dl.doubtnut.com/l/_kc9Pmj5O0Jbp

Answer:

° Watch Video Solution

261. Which method is used to obtain a plant with desirable characters ?

A. Layering

B. Grafting.

C. Cutting

D. Suckers

Answer:

° Watch Video Solution

262. Write the observation you made by examining the fern leaf.Are they

resembled spores of rhizopus?


https://dl.doubtnut.com/l/_kc9Pmj5O0Jbp
https://dl.doubtnut.com/l/_KhJUZ1IToUjz
https://dl.doubtnut.com/l/_JMQU7zGIro2c

A.Sporangium

B. Sporangiophore

C. Sporophyll

D. Sorus

Answer:

o Watch Video Solution

263. Male reproductory system secretes a fluid called semen . What is its

use ?

A. Provide nutrients to sperms to keep alive

B. Providing a medium for the movement of sperms

C. Secreting testosterone

D.Aand B only

Answer:



https://dl.doubtnut.com/l/_JMQU7zGIro2c
https://dl.doubtnut.com/l/_ERXwByFKmwg2

| o Watch Video Solution

264. Ovulation is induced by a hormone called

A. Release of ovum from graffian follicles

B. Release of ovum from fallopian tube

C. Release of ovum from uterus

D. Release of ovum from carpus leteum

Answer:

o Watch Video Solution

265.The placenta is formed by

A. 6 weeks of pregnancy

B. 8 weeks of pregnancy

C. 12 weeks of pregnancy



https://dl.doubtnut.com/l/_ERXwByFKmwg2
https://dl.doubtnut.com/l/_DGUbnDgeHmS9
https://dl.doubtnut.com/l/_F7yfirDiLXgV

D. 16 week of pregnancy

Answer:

° Watch Video Solution

266. Name the watery lymph like fluid that accumulates in the mammary

glands during the last part of pregnancy.

A. Ammiotic fluid

B. Colostrum

C. Allantoic fluid

D. None of the above

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_F7yfirDiLXgV
https://dl.doubtnut.com/l/_IgWZyPasrChH

267. Describe the post-fertilisation changes in a flower.

A. Zygote

B. Ovule

C. Endosperm

D. Nucleus

Answer:

o Watch Video Solution

268. Chromosome number in sex cells become half due to the division

called

A. Meiosis

B. Mitosis

C. Amitosis

D. Cleavage


https://dl.doubtnut.com/l/_IRXjlC2hg40S
https://dl.doubtnut.com/l/_h04U1aFCcnFh

Answer:

° Watch Video Solution

269. Name the scientist with help of the paragraph.

He proposed that chromosomes carried a different set heritable

elements.

A. Walther Flemming

B. Wilhelm Roux

C. Robert Remak

D. Virchow

Answer:

° Watch Video Solution

270. Name the perlod of cell cycle during which DNA is aynthesized.


https://dl.doubtnut.com/l/_h04U1aFCcnFh
https://dl.doubtnut.com/l/_CSfZDLz9c5en
https://dl.doubtnut.com/l/_dD5GTqNCfti5

A. G5 phase

B. M phase

C.S phase

D. G; phase

Answer:

o Watch Video Solution

271. What is Cytokinesis. ?

A. Divison of cytoplasm

B. Division of nucleus

C. Division of protoplasm

D. Division of cell

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dD5GTqNCfti5
https://dl.doubtnut.com/l/_Y26pbRvBdevm

272. Expand NADPH.

A. Acquired Immuno Disease Syndrome

B. Acquired Immuno Deficiency Syndrome

C. Advanced Immuno deficiency syndrome

D. Acquired Intense Disease Syndrome

Answer:

o Watch Video Solution

273. In synthetic stage of cell division cycle which substance

synthesized more?

A.RNA

B. RNA and proteins

C.DNA


https://dl.doubtnut.com/l/_Y26pbRvBdevm
https://dl.doubtnut.com/l/_N7DyYOhEoNQB
https://dl.doubtnut.com/l/_x1dlxjGN3iNt

D. Glucose

Answer:

° Watch Video Solution

274. Which of the following is not a sexually transmitted disease?

A. Gonorrhoea

B. Syphilis

C. AIDS

D. All the above

Answer:

o Watch Video Solution

275. Lactobacillus mediated conversion of milk to curd results because of


https://dl.doubtnut.com/l/_x1dlxjGN3iNt
https://dl.doubtnut.com/l/_cZ66qAyPd0In
https://dl.doubtnut.com/l/_EXEu6raw4XBF

A. Lactobacillus

B. Salmonella

C. Azotobactor

D. Nitrosomonas

Answer:

o Watch Video Solution

276. Amoeba and Yeast reproduce asexually by fission and budding

respectively, because they are

A. Fission

B. Fragmentation

C. Budding

D. Conjugation

Answer:



https://dl.doubtnut.com/l/_EXEu6raw4XBF
https://dl.doubtnut.com/l/_q8BsYGHQ4ScN

| ° Watch Video Solution

277.1n which one pair both the plants can be vegetatively propagated by

leaf pieces?

A. Stolons

B. Bulbs

C. Corns, tuber

D. All the above

Answer:

° Watch Video Solution

278. Carrot propagate vegetatively through

A.Root

B. Stem


https://dl.doubtnut.com/l/_q8BsYGHQ4ScN
https://dl.doubtnut.com/l/_BWiTnYF4b5Ls
https://dl.doubtnut.com/l/_6pBKX9Due8qF

C. Leaf

D. Bud

Answer:

o Watch Video Solution

279. Potatoes are vegetatively propagated from

A. Sucker

B. Stolons

C. Tuber

D. Bulb

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_6pBKX9Due8qF
https://dl.doubtnut.com/l/_3K5i4PxczRGe

280. Name the part that produces the sperm cells or male reproductive

cells in the male reproductive system ?

A. Testis

B. Ovary

C. Ureter

D. Graffian follicles

Answer:

o Watch Video Solution

281. In male cockroaches sperms are stored in which part of reproductive

system?

A. Vasefferentia

B. Epididymis

C. Vas deferens


https://dl.doubtnut.com/l/_zZYYeb9wlQ7i
https://dl.doubtnut.com/l/_NXFn7X2uDcz7

D. Cowper gland

Answer:

° Watch Video Solution

282. Male reproductive system consist of

A. Progesteron

B. Estrogen

C. Testosterone

D. Cortisol

Answer:

o Watch Video Solution

283. In the human female, fertilization of the ovum takes place in


https://dl.doubtnut.com/l/_NXFn7X2uDcz7
https://dl.doubtnut.com/l/_0Pz7Pbc4qEuc
https://dl.doubtnut.com/l/_wU9IKR3GDDh2

A. Uterus

B. Vagina

C. Cervix

D. Fallopian tube

Answer:

o Watch Video Solution

284. |dentify the reproductive parts of Flower.

A. Calyx, corolla

B. Stamens, carpels

C. Calyx, stamens,

D. Carpels, Corolla

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wU9IKR3GDDh2
https://dl.doubtnut.com/l/_ducTC45Ai8Pg

285. Who confirmed scheme of mitotic division in 1904 ?

A. Theodor Boveri

B. Augustus Weismann

C. Walther Flemming

D. Wilhelm Roux

Answer:

o Watch Video Solution

286. Give an example for intra uterine device.

A. Copper-T

B. Condom

C. Vasectomy


https://dl.doubtnut.com/l/_ducTC45Ai8Pg
https://dl.doubtnut.com/l/_OILH56kPkT5C
https://dl.doubtnut.com/l/_M3kYehHZt8uJ

D. Pill

Answer:

° Watch Video Solution

287. Tubectomy is a method of sterilization in which

A. Males only

B. Females only

C.Both males and females

D. Only pregnant females

Answer:

o Watch Video Solution

288. Which contraception method is related to males?


https://dl.doubtnut.com/l/_M3kYehHZt8uJ
https://dl.doubtnut.com/l/_2g2FskwYBeWD
https://dl.doubtnut.com/l/_n03Hbyfq5ixZ

A. Oral pills

B. Tubectomy

C. Vasectomy

D. None of the above

Answer:

o Watch Video Solution

289. Which of the following is not a virus caused STD

A. AIDS

B. Gonorrhoea

C. Genital herpes

D. Hepatitis B

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_n03Hbyfq5ixZ
https://dl.doubtnut.com/l/_VcrGQISyT3nU

290. Breast feeding is the best feeding because it

A. Enhances immunity

B. Protects against allergies

C. Reduces chances of immediate pregnancy

D. All the above

Answer:

o Watch Video Solution

291. Which animal is having less number of Chromosomes?

A. Onion

B. Monkey

C. Ascaris


https://dl.doubtnut.com/l/_VcrGQISyT3nU
https://dl.doubtnut.com/l/_ynz2dhqHMqhf
https://dl.doubtnut.com/l/_LNvRcJwIddzZ

D. Rat

Answer:

° Watch Video Solution

292. What is the statutory marriageable age for men and women in India

?

A. 16 years

B. 18 years

C. 21 years

D. 25 years

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_LNvRcJwIddzZ
https://dl.doubtnut.com/l/_Hue7ZCkslIsu

293. What is the statutory marriageable age for men and women in India
?

A. 18 years

B. 22 years

C. 25 years

D. 21 years

Answer:

o Watch Video Solution

294. All organisms begin their life from a single cell called

A. Male gamete
B. Female gamete
C. Zygote

D. Microspore


https://dl.doubtnut.com/l/_r6S74GYMtwk9
https://dl.doubtnut.com/l/_0QYBWGi5mi73

Answer:

° Watch Video Solution

295. Product of sexual reproduction generally generates

A. Androecium and gynoecium

B. Inflorescence and flower

C. Calyx and corolla

D. Seeds and fruits

Answer:

° Watch Video Solution

296. The number of free nuclear mitotic divisions that occur in a single

functional megaspore to form 8-nucleated' embryo sac is


https://dl.doubtnut.com/l/_0QYBWGi5mi73
https://dl.doubtnut.com/l/_eMuW43H4gfxT
https://dl.doubtnut.com/l/_4sG1tB6ZZVy5

A 4

B.3

C.3

D.7

Answer:

° Watch Video Solution

297. Egg apparatus in the embryosac of angiosperms is

A. Chalaza

B. Funicle

C. Micropyle

D. Integument

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_4sG1tB6ZZVy5
https://dl.doubtnut.com/l/_WXGBpAjPoDcx

298. The anther contats

A. Sepals

B. Petals

C. Pollengrains

D. Carpels

Answer:

o Watch Video Solution

299. What is the correct sequential order of events in human

reproduction?

A. Fertilisation, pollination, embryo, seed

B. Pollination, fertilisation, embryo, seed

C. Pollination, embryo, fertilisation, seed


https://dl.doubtnut.com/l/_WXGBpAjPoDcx
https://dl.doubtnut.com/l/_NDd9f4C8dHvh
https://dl.doubtnut.com/l/_xIwBdB2CwE0g

D. Embryo, seed, pollination, fertilisation

Answer:

° Watch Video Solution

300. | carry the characters from parents and grand parents to the off

springs. Who am I?

A. Cytoplasm

B. Ribosome

C. Golgi bodies

D. Genes

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_xIwBdB2CwE0g
https://dl.doubtnut.com/l/_daom3FyOFPNK

301. The diagrams below represent various processes associated with

reproduction. Asexual reproduction by budding is represented by

A. Yeast only

B. Hydra only

C. Both Yeast and Hydra

D. Paramoecium

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_v3eKPzSwfTeR

302. Binary fission is found in

A. Bacteria, Hydra

B. Bacteria, Paramoecium

C. Euglena, Paramoecium

D. Euglena, Hydra

Answer:

o Watch Video Solution

303. During parthenogenesis as the egg develops without meiosis

A. Male gametes develops into zygote without fertilization

B. Female gametes develops into zygote without fertilization,

C.Both male and female ,gametes develops into zygote without

fertilization


https://dl.doubtnut.com/l/_jTW7MxyuZI6d
https://dl.doubtnut.com/l/_jU1CLPm0Txh7

D. Male gametes develops directly into organism

Answer:

° Watch Video Solution

304. External fertilization of frog occurs in

A. Fishes

B. Amphibians

C. Both Fishes and Amphibians

D. Reptiles

Answer:

o Watch Video Solution

305. Spermiation is the process of the release of sperms from


https://dl.doubtnut.com/l/_jU1CLPm0Txh7
https://dl.doubtnut.com/l/_bBtECdP7eyDc
https://dl.doubtnut.com/l/_TYLmdDSqMFZY

A. Seminal duct, epididymis, urethra

B. Urethra, epididymis, seminal duct

C. Epididymis, urethra, seminal duct

D. Epididymis, Seminal duct, urethra

Answer:

o Watch Video Solution

306. Which extraembryonic membrane in humans prevents desiccation of

the embryo inside the uterus ?

A. Placenta

B. Amniotic fluid

C. Umbilical cord

D. Chorion

Answer:



https://dl.doubtnut.com/l/_TYLmdDSqMFZY
https://dl.doubtnut.com/l/_DNXdFsOJY2X7

| ° Watch Video Solution

307. After fertilization implantation of zygote takes place in the uterine

walls of females after

A. Some months

B. Three weeks

C. Month

D. Probably 7 days

Answer:

° Watch Video Solution

308. What are the three parts of carpel ?

A. Androecium

B. Gynoecium


https://dl.doubtnut.com/l/_DNXdFsOJY2X7
https://dl.doubtnut.com/l/_v7pqHKvoI4B9
https://dl.doubtnut.com/l/_nwCWcFjl3a3a

C. Calyx

D. Corolla

Answer:

° Watch Video Solution

309. Observe the diagram and answer the following.



https://dl.doubtnut.com/l/_nwCWcFjl3a3a
https://dl.doubtnut.com/l/_AXDHLNBesVDR

If only stamens are present in flower what does it indictes.

A. Unisexual

B. Bisexual

C. Asexual

D. None of the above

Answer:

o Watch Video Solution

310. Read the following lines, find the error and rewrite it.

Pollen grain may have a pollen tube and one nucleus. It germinates only

on the style.

A. Dry soil

B. Wet soil

C. Damp places


https://dl.doubtnut.com/l/_AXDHLNBesVDR
https://dl.doubtnut.com/l/_ayQjfrVd69tt

D. Stigma

Answer:

° Watch Video Solution

311. Who stated that binary fission of cells was the means of reproduction

of animals cells?

A. Virchow

B. Robert Remak

C. Walther Flemming

D. Wilhelm Roux

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ayQjfrVd69tt
https://dl.doubtnut.com/l/_yOR8UuQ71sVs

312. Who discovered that chromosomes appear double in nature ?

A. Virchow

B. Robert Remak

C. Walther Flemming

D. Wilhelm Roux

Answer:

o Watch Video Solution

313. Who hypothesised that individuals of the same species have the

same number of chromosomes ?

A. Augustus Weisemann,

B. Theodor Boveri

C. Wilhelm Roux

D. Robert Remak


https://dl.doubtnut.com/l/_VukYfaglFYJ6
https://dl.doubtnut.com/l/_f1XPb0kSKx8u

Answer:

° Watch Video Solution

314. Double helical model of DNA was proposed by

A. James Watson

B. Francis Crick

C. Gregor Mendal, Morgan

D. Watson and Crick

Answer:

° Watch Video Solution

315.1n a cell cycle G phase is marked by the


https://dl.doubtnut.com/l/_f1XPb0kSKx8u
https://dl.doubtnut.com/l/_NswqztB07Tvy
https://dl.doubtnut.com/l/_iMi5v1xTRDFC

A. Period between the completion of mitosis and the beginning of

DNA replication.

B. Period of DNA synthesis leading to duplication of chromosomes

C. The end of DNA replication and the beginning of mitosis

D. The mitotic cell division phase

Answer:

o Watch Video Solution

316. In S-Phase of the cell cycle

A. Period between the completion of mitosis and the beginning of

DNA replication.

B. Period of DNA synthesis leading to duplication of chromosomes

C. The end of DNA replication and the beginning of mitosis

D. The mitotic cell division phase


https://dl.doubtnut.com/l/_iMi5v1xTRDFC
https://dl.doubtnut.com/l/_50n089EJv92N

Answer:

° Watch Video Solution

317. Name the stage of cell cycle at which one of the following events
occur:
(i) Chromosomes are moved to spindle equator
(ii) Centromere splits and chromatids separate
(iii) Pairing between homologous chromosomes takes place
(iv) Crossing over between homologous chromosomes takes place
A. Prophase
B. Metaphase

C. Anaphase

D. Telophase

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_50n089EJv92N
https://dl.doubtnut.com/l/_bHO1UvyUWZGs

318. Distinguish anaphase of mitosis from anaphase | of meiosis.

A. Nuclear membranes breaks down

B. Centromeres split, separating chromatids

C. Chromatids pulled towards poles

D. Nucleus divides into two

Answer:

° Watch Video Solution

319. Cell membrane or cell wall laid down across spindle equator in

A. Prophase

B. Metaphase

C. Telophase

D. Anaphase


https://dl.doubtnut.com/l/_bHO1UvyUWZGs
https://dl.doubtnut.com/l/_N7JkElICxwxj
https://dl.doubtnut.com/l/_159WvoLgIyPw

Answer:

° Watch Video Solution

320. Paramoecium prefers sexual reproduction during

A. Favourable conditions

B. Unfavourable conditions

C. Normal conditions

D. Sterile conditions

Answer:

° Watch Video Solution

321. The collective name for sepals is____

A. Corolla


https://dl.doubtnut.com/l/_159WvoLgIyPw
https://dl.doubtnut.com/l/_8uMSbm5qES1N
https://dl.doubtnut.com/l/_6SuS5apd3IPM

B. Calyx

C. Androecium

D. Gynoecium

Answer:

° Watch Video Solution

322.The group of petals is called

A. Corolla

B. Calyx

C. Androecium

D. Gynoecium

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_6SuS5apd3IPM
https://dl.doubtnut.com/l/_VWmVkECnwRVP
https://dl.doubtnut.com/l/_v1Eo9vSpRFnb

323. Which hormone is responsible for the set in of secondary sexual

characters in males ?

A. Breast

B. Ovary

C. Thyroid

D. Gonads

Answer:

o Watch Video Solution

324.n stem cuttings, a slanting cut is made in the stem

A. Grafting

B. Budding

C. Vegetative propagation

D. Parthenogenesis


https://dl.doubtnut.com/l/_v1Eo9vSpRFnb
https://dl.doubtnut.com/l/_jNYUkR2Xk5rX

Answer:

° Watch Video Solution

325. Arrange the stages of cellll-cycle of mitosis in correct order:

Ephﬂfﬂl - |G, phase

1 2
M phase| — |-GII phase
-3 4
A.41.23
B. 23,4,
C.423]
D.134,2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_jNYUkR2Xk5rX
https://dl.doubtnut.com/l/_gslhmNGQwMaB

326. How many eggs are released by a human ovary in a month? How
many eggs do you think would have been released if the mother gave
birth to identical twins? Would your answer change if the twins born
were fraternal?

A. Testes

B. Ovary

C. Uterus

D. Fallopian tube

Answer:

o Watch Video Solution

327. The organism which can grow from a separe piece of parent

organisms and also reproduce sexually.

A. Flat worms


https://dl.doubtnut.com/l/_5foNZDPEzeB5
https://dl.doubtnut.com/l/_vJa8CeNZ11Lb

B. Moulds

C. Spirogyra

D. All the above

Answer:

° Watch Video Solution

328. Mention the modes of reproduction in Algae and Fungi.

A. Fission

B. Budding

C. Fragmentation

D. Conjugation

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_vJa8CeNZ11Lb
https://dl.doubtnut.com/l/_hIyjb0XNCfzg
https://dl.doubtnut.com/l/_k0F3b26R9ulJ

329. Give an example for modified underground stem .

A. Potato

B. Sweet potato

C. Carrot

D. Turnip

Answer:

o Watch Video Solution

330. At 14 th or 15th week of pregnancy the location of foetus and

placenta is determined by

A. Ovum

B. Embryo

C. Foetus

D. Baby


https://dl.doubtnut.com/l/_k0F3b26R9ulJ
https://dl.doubtnut.com/l/_466KZROxDAGA

Answer:

° Watch Video Solution

331. How can you say that placenta supplies nutrition to embryo?

A. Placenta

B. Umbilical cord

C. Fallopian tube

D. Amnion

Answer:

° Watch Video Solution

332.'Colostrum' refers to

A. It develops growth of the child


https://dl.doubtnut.com/l/_466KZROxDAGA
https://dl.doubtnut.com/l/_NEjV1R0XgqLd
https://dl.doubtnut.com/l/_ZUW5V2IqjUJ9

B. It develops the Immune system of the child

C. It develops protein in the child

D. All the above

Answer:

° Watch Video Solution

333. What is the need of sexual reproduction ?

A. Combination of characters of both parents

B. Develop characters

C. To adapt better to the surroundings

D. All the above

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ZUW5V2IqjUJ9
https://dl.doubtnut.com/l/_clhsNavucbR4
https://dl.doubtnut.com/l/_UHi8paFzd0fF

334. Name the surgical birth control method in males.

A. Tubectomy

B. Vasectomy

C. Copper-T

D. Loop

Answer:

° Watch Video Solution

335. The female hormone inhibin is secreted by

A. Oestrogen

B. Progesteron

C. Testosterone

D. Cortisol


https://dl.doubtnut.com/l/_UHi8paFzd0fF
https://dl.doubtnut.com/l/_rmUvSpty0PH6

Answer:

° Watch Video Solution

336. The leaf which produces spores is called

A. Sporangium

B. Sporangiophore

C. Sporophyll

D. Sorus

Answer:

° Watch Video Solution

337. The basic forms of asexual reproduction are fission, budding

gemmulation and fragmentation. Binary fission is common among


https://dl.doubtnut.com/l/_rmUvSpty0PH6
https://dl.doubtnut.com/l/_JeRf4se2laU7
https://dl.doubtnut.com/l/_W3TaPSRZDiSq

A. Amoeba

B. Paramoecium

C.Fungi

D. Yeast

Answer:

o Watch Video Solution

338. Mature Graafian follicle is generally present in the ovary of a healthy

human female around stet

A. Ovum

B. Sperm

C. Embryo

D. None of the above

Answer:



https://dl.doubtnut.com/l/_W3TaPSRZDiSq
https://dl.doubtnut.com/l/_2rH2sGkEJQ6s

| o Watch Video Solution

339. What are the changes that occur in uterus while embryo is

devoloping?

A. Uterus enlarges

B. Inner wall thick, soft

C. Blood supply is increased

D. All the above

Answer:

o Watch Video Solution

340. | originate from the digestive canal of the embryo. | am a tube like
structure | have very important blood vassels that connect the embryo

with the placenta. Who am I?


https://dl.doubtnut.com/l/_2rH2sGkEJQ6s
https://dl.doubtnut.com/l/_cD7XR8IuIEy2
https://dl.doubtnut.com/l/_hEUWA1gzyqER

A. Chorion

B. Amnion

C. Allantois

D. Follicle

Answer:

° Watch Video Solution

341. Pregnancy lasts, on an average of

A. 8 months

B. 9 months

C. 10 months

D. 11 months

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_hEUWA1gzyqER
https://dl.doubtnut.com/l/_K1225dGW5D93

342.The outermost whorl of a flower is

A. Calyx

B. Corolla

C. Androecium

D. Gynoecium

Answer:

o Watch Video Solution

343. Monoecious inflorescence with unisexual flowers is

A. Bottle gourd

B. Papaya

C. Datura


https://dl.doubtnut.com/l/_K1225dGW5D93
https://dl.doubtnut.com/l/_3levxx9EyfYq
https://dl.doubtnut.com/l/_5CXjiAA5vIAz

D.Aand B

Answer:

° Watch Video Solution

344.The number of cells in embryo sac 1) 7 cells 7 nuclei ii) 7 cells, 8 nuclei

A7

B.9

C.8

D.6

Answer:

° Watch Video Solution

345. What are the methods of artificial propagation ?


https://dl.doubtnut.com/l/_5CXjiAA5vIAz
https://dl.doubtnut.com/l/_9xrmwYeHCHY3
https://dl.doubtnut.com/l/_IBQv0DTLd75F

A. Sericulture

B. Apiculture

C.Tissue culture

D. Agriculture

Answer:

o Watch Video Solution

346. Surgical method: Tubectomy : : Barrier method.......72 ...

A. Oral pills

B. Spermicides

C. Vasectomy

D. Condom

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_IBQv0DTLd75F
https://dl.doubtnut.com/l/_Qv3O8SuGbdLg

347. Which of the following group does not constitute vegetative
propagation methods?
A. fission,Budding,Fragmentation,Regeneration
B. Stolons, Suckers, Runners,Bulbs,Corns
A. Hydrilla
B. Chrysanthemum

C. Potato

D. Bryophyllum

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Qv3O8SuGbdLg
https://dl.doubtnut.com/l/_QaUp7HAxC5EN

